CHINMAYA ACADEMY FOR CIVIL SERVICES
TNPSC Group 4 Full Test 2

Geography Explanation

1. Choose the correct order of arrival of seismic waves during an Earthquake
a) ‘S’ waves - P’ waves - ‘L’ waves b) ‘P’ waves - ‘S’ waves - L’ waves
c) ‘P’ waves - L’ waves- ‘S’ waves d) ‘S’ waves - L’ waves - ‘P’ waves
Bl H &85 T 6T CLIMSI Hlev 3B\ JT6 S eMmeva6T au@bld Flwmer suflenFenwsd C&HTHR S H & &ayLb:
a)'S' BIMEVGET - 'P' MEVGET - 'L 606V 56T b) 'P' SI6MEVSET - 'S' IEMEVEET - 'L' 36m6V&6lT
Q) 'P' SIMEVGET - 'L’ SI6MEVGHET - 'S’ D6MEVE 6T d)'S' UEMEVGEHET - 'L’ D6MEVGEIT - 'P' D6m6V & 6T
Explanation:
e P-waves are the fastest, followed by S-waves, and then the slower L-waves (surface waves).

o P-Simeu&ET WG GaUSINMS QIIHLD, AMNSSH QBTLIHS S-3|606V86T, S FIUITE GlLDSEI6U T L-
MGG (BLOMLITLIL| 6DV SHET).

2. Match List I with List II and select the correct answer using the codes given below the
lists:
List I List II
a.South China Sea - 1. Cyclone
b.Arafura Sea - 2. Tornado
c.Gulf of Mexico - 3. Typhoon
d.Bay of Bengal - 4. Willy - Willy
UL IgWeV | 83 UL IqWiev 1l 2. L6T QUNTHSS), ECL Q&MTH&SLILL B 6Tem GMIuTGis&amerll LIweTU B S
giflwumer LS emevs C5THASH &6 LD:
UL 1g W6 | LLCguwev Il
a. 56T E TS SL6V 1. @mmeuerfl
b. QITLLITIT &L6V 2. QLmyeormGLIm
c. QUEFCHIT QUMETEGLT 3. 60)LLL60T

d. eursis e eNiflGgLrr 4. e1l6Le91-af 6L el
a b c

a)l 4 3

b)4 1 2

c)3 4 2

d3 2 4

3. Which of the following statements related to tribes in India are correct ?

1. Tharu tribes are found in Uttar Pradesh

2. Chenchu found in Kerala

3. Gaddi tribes are nomadic herders of Jammu & Kashmir

a) 1 only b) 2 only c) 1, 2 and 3 only d) 2 and 3 only
@ BB Wmellev 2 6iterm LIPHEIG LU 6TT QSTLTUITeT LN6iTeu (LD FamiSHerflev 615l &Fiflwimeoremneu?

1. sy uphGgyuilear] 2 55TLTCH&Fs )6V &TevorLiLI{H S 6oTmeor.

2. QFEH Gomyemmallev &meuorLiLI(H S eoTm6or.

3. &My UpnkGLquilery QLW & &TaqliHledr HTGLITLY SmeVHenL GLOUILILIGUTSHEIT.

Frflumer @B LILINGISemeTs CSITHG S H & &6 LD:

a) 1 L (D b) 2 LD o) 1,2 mmibd 3 L GILD d) 2 inmmith 3 Gl
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Explanation:

The Tharu tribe is an indigenous group mainly found in the Terai region of Uttar
Pradesh and Uttarakhand, especially near the Nepal border.
Chenchu found in Kerala — Incorrect
The Chenchu tribe is a forest-dwelling tribe mainly found in Andhra Pradesh and
Telangana, not in Kerala.
Gaddi tribes are nomadic herders of Jammu & Kashmir — Incorrect
The Gaddi tribe is known for sheep and goat herding, but they are primarily located in
Himachal Pradesh, especially in regions like Chamba and Kangra, not in Jammu &
Kashmir.

eflemg & 10:
ST (Tharu) LpRBIGLUleTT 2 55T LNTCHEFS S 6V &MeooT LILGSBMTISH6T — &FiflWmergl
SIT(H I0&56T 26571 NTCH&FID LoMMILD 2 & J&TeuorL LOMBleunkiserfler Qarmil UGS Wile aumewLd
LILpTBIG L9 Ul eor .
Q& @Eh& (Chenchu) LIpmIGIQUTeorT CaFeTmallév &M ILIGSMTTS6T — Heumi
Q&FEH& LIPHIGLIQUleary SuhS Tl KNTCs &b LoMMID Q& 6VMHISITETIT LOTHleVEISH6 60 2 6Tem
QT ILIGH &6rfl6L aUTLDERM TS 6T; S 6UTSH6T G yermeliléy @) 6uemev.
&L19 (Gaddi) LLpEIGLQUTeTT QL & STaqLSKleT LV L L0& & 6T — Seuml
&L 10 IDGGET LDMBH&6T MMID L (H1&eme6T Gl LD FIMM 6T D& &6T. 9aIT&H6T GLIIHLLIMEILN
anliomFgeull NTCHEFS B 60T FITDLIT, STBIGTT CLITeTM LG H &6rlev Smeoor LGSR MTISH6T. O 6UTsser
DN & HTeQLSTl6L 3i6v6v.

4. Identify the incorrect pairs.

A) Isotherm - 1. Connecting equal temperature

B) Isohyet - 2. Connect equal amount of rainfall

C) Isohel - 3. Join equal sunshine

D) Isocryme - 4. Join equal lowest mean temperature for specific period

S 6UMITEUT (@) 60)600TS 6016TTE &5 600T LMl LLIGLD.

l. 3CFMTQSTLD (Isotherm) - FL0 QQILILIFleMeLEMIL @) 60600TLILI S

Il. 2CFmemamL (Isohyet) - FL0 6T LOEMLN 6L (E) 60)6T0T LILI S

lll. 88F TR aM6v (Isohel) - F10 &l eeflemw @) emetoTLILIS)

IV. 2@&M&emITLD (Isocryme) - GOILNILL &MTLSHMETET &FLO &6e0Mbhs & meEfl GQeuLiLBlemnevemnil
@) emevoTLILIS)

a) [ &II b) II & III c) [ &Il & IV d) None of above
Explanation:

e All the statements are true
¢ IDMOTHG FnMHMIGHEHLD 2_600T60)LN

5. Match the following questions pairs
a) Wave energy power plants 1.Kulasekarapattinam
b) Ocean Thermal Energy Plants 2. Chennai
c) Tidal energy plants 3. Kandla
d) Energy from Urban waste 4.Vizhinjam
5.Tuticorin
Letreu(pLh CaeTallgemer G EMHL 60T G\LIT(H &S 6 LD
a) 9J6M6V 3L,MMEL LA6DT [Hl6D16V LLIMGI &5 6T 1. G6VCEFSHITLI LILI960TLD
b) &L6L QUL 31,MMEL [Bl6M6V LI I & 6T 2. QF6iTem 6T
€) S|6M6V ILMMEV [F] 6016V LLIMI &G 6T 3. S6UoTL_6UIT
d) B&TULD SiflasalledlBhs! syhme 4. aflifle &b
5. 55815619
a b d
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2 3 5

1
4
1
4

1 3 2
4 3 5
1 3 5

6. Tamil Nadu Newsprint and Papers Limited (TNPL) is a government of Tamil Nadu
enterprise producing newsprint and printing and writing paper at its mill located at

a) Pukkathurai of Kancheepuram b) Paramathi Vellore

c) Kagithapuram in Karur d) Nilakkotai

SUILBTEH QFWHSST6T LMHMILD STH S Blmieueorid (TNPL) eTedrL Gl SLOILLBHTH S| J&FTHEIS [HlMIGU6OTIOMEG LD,
@15 QF WIS G TET InMHMILL FFHSH6V LDMMILD TSI TR SHMS 2 MUSS QF LR MSI.

a) HEMTEBFITSH6T LS55 m b) LTSS Geugur(y

c) sepifle 2 6Tem MR SL TN d) BlevsC&HITL v

Explanation:

e Tamil Nadu Newsprint and Papers Limited (TNPL) is a state-owned enterprise in Tamil Nadu
that manufactures paper products. Its main paper mill, where newsprint and printing and
writing paper are produced, is situated in Kagithapuram, located in the Karur District of
Tamil Nadu. This plant is known for utilizing bagasse (sugarcane residue) as a primary raw
material, making it an environmentally friendly venture.

SUDBTH QFWHSHSTET LMHMID STEHS BloieuerLd (TNPL) eTeTU gl SLADBTEH HTH6T e LPEHSHIW
BlOIUETIOMNGLD. QFWIH SHSTET STH S LDHMILD &S MHMID TS STHSHRIGM6T 2 MHUSH Q&L
SIS (PEHFIW 2606V, HEBHIT LOMEUL L &B6L 2 6Tem ST SLTLD 6TedTM G LSFH 6V AHeMLDBHSIETENSI. &(HLOLS
SiPle|HemeT (HHULLE F&Hemd) (N&HH W eVLIQUTGBETTHL LWeTUBRSSH STH S0 SsWflliuGev @ns
26 LSHDALDME!, @S RO GL6 BLL (PUDHFLNTGLD.

7. Which one of the following river shortest in length?
a) Damodar b) Chambal c) Son d)Kaveri
edreu(pLd mH SHerflev eThs HH HeTHH6L SBHLMTHS &0y 6 SIKIGHMSI?

a) HSTEOMST b) FLhLI6V ) G&meor d) &smGeuryl
Explanation:

e The Damodar River is the shortest. Its length is approximately 592 km, while Chambal is
about 1,024 km, Son is about 784 km, and Kaveri is about 800 km.
QE&ETH&&LILLL af@dLiunkigefle, STCMsT FHCW W& Gembs HemLnemnL g @ &60T HETLD &I0mF 592
&.15 9@&D, 9CSHF UL FIDLIGL &I0MT 1,024 .15, G&MedT &My 784 .10, nmmild &TGeu] &My 800 &H.LS
SAGLD.

. Identify the correct pairs matching

. Cardamom Hills - a) Coromandel Coast

. Kaimur Hills - b) Konkan Coast

. Mahadeo Hills - c) Central India

. Mikir Hills - d) North - East India
FiflmeoT @) 60 600TS: ML QILIT(IHS SI6U6M S 3|60 LIITETLD &IT6UoT6YLD
1. JUGGETII LDEMEVGET - a) CSHITIFLOEUITL6V HL M0 T
2. M GELIT LDEM6EV S 6T - b) QBMRIGET LMY
3. D&EMGICWIT LDEMEVEET - ¢) LNSHW @HH W

4. A& DML S 6T - d) auLepEE QBSWIT
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a) 1 and 2 b) 2 and 3 c) 3 and 4 d) 2 and 4

Explanation
Cardamom Hills are in the Western Ghats, not the Coromandel Coast.
Kaimur Hills are in Central India (Vindhyan Range), not the Konkan Coast.
Mahadeo Hills are correctly located in Central India (part of Satpura Range).
Mikir Hills are correctly located in North-East India (Assam).
eflem& &1n:
JUSBSIT LDEMEVSET CINMGS QSTLIFF nemeuuiley 2 6TaTer, GFTLOLNEITL6V8 &L M&aTuile j6vev.
MG eLNIT LDEMEVEET IDSH W @) HH Wimellev (eNHS W6 LDeMeVEQSTL ) 2_6T6TeuT, Gl& TS 60T
SLMHSHMTUN6L 3(6V6v.

L&TCH6U LemeVSET FIfIMS nSS W GBS WTalev (FSHLTT LDemevSR S TLIfl6r (b LIGH)
9|60)L0[H S| 6ITETEOT.

R FT emev& 6T FlLMG UL RLP&HSG GBS WMl ({6eNVerVITLD) 3{60)L0[HSIGTETEOT.

9. Mahua, Haldu found in which forest type

a) Tropical Deciduous Forest b) Desert and semi desert vegetation

c) Mountain / Montane forest d) Tropical Dry forest

LT, aMTeV({) 6THS 6U6M& &ITL.19.6V & Tevor LiLI(H) 8 60T M 60T

a) QeULILILDGTOTL_ 6V @ emev BT Sm(H b) LITem6V6aU6ITLD LOMMILD 6D T LITED6V6UEDT &IT6U [T hIg 6T
) LDEMGV / LDEMEVEHSHIT(H) d) @&ILILILNGD0T L6V eUMeDoTL &MT(H

Explanation:

e Mahua and Haldu are common tree species that thrive in Tropical Deciduous Forests.
These forests, often called Monsoon Forests, are characterized by a distinct dry season during
which trees shed their leaves to conserve moisture. Mahua is economically important for its
edible flowers and seeds, while Haldu is valued for its timber. Both are widely distributed
across the central and peninsular regions of India where these forest types prevail.

eflem& &b

e D@6 (Mahua) LDMHMILD @MV (Haldu) QL& Liemel QeuLILILN6voTL 6V @ 6emeul T T &mH &erflev &mevor LB
QUITSIAITET IO eUEMSHSHETTGLD. @ HS HTH ST, LIHeULnemL &HT(H&H6T 6TeTmIN 60L& & L1LH & edrmeoT,
@6l a6t GHMEL&TVESH 60 BT LIMSIGTLILEEHTE SHEIG6T @)eneVSHen6T &MY LM (NS0 6Tl (k)
QIMIBISEHS @ 2 5753569 B S 60TMEOT. LDEG6UT SI&H60T LL&S&H6T LDMHMILD aenNSH&HE@Eh&STHAD, AMeVS! 35 60T
DISHMS&BTHE|D (D& ILDTETen6. @)\HS @) Tetor(h DI aUen&&EHLD @)\HS Wmeller SHIW mHILD
FLUSHLUL LGH seflev 2 616m @eneul ST STH&erfley LiTeleunsd & meoor LI &) eorm 6.

10. Which district has the largest forest cover in Tamilnadu?

a) Dharmapuri b) Vellore c) Dindigul d) Erode

SONBTL 1960 H& eUeTLILIGSH Q&HMeuorL OmaUL L LD 6T5I?

a) oy b) Geuguriy 0) B6voT(h) & &6V d) FGIm(®

Explanation:

e Erode district has the largest forest cover in Tamil Nadu in terms of total area (square
kilometers) among the given options. This is due to its expansive forest regions, including
parts of the Sathyamangalam Tiger Reserve and areas along the Western Ghats.

eflem& &1h:

o QaTR&SLILLL a@Lliumgeflsy, Qmgs LFLiLerelle (F&IT HCamLSL L FgeT) g liLenLuilev
SIOLDBHITL 960 3F& aUeT LTINS Q&TeTL Dmall LD FEFTH G, F&55H WIDBIGELD L|e0&6T
STLIUSMD IDHMID GIMGS QSTLIFR weneuliLGa&efler alliflaumsasliul L alarliLGH &6 @50&
(DEHW SITIE0TLOMELD.
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11. The Airport Authority of India (AAI) constituted in the year

a) 7th Jan 1992 b) 1st April 1995 c) 7th April 1992 d) 7th Jan 1995
@ HH W aflomeoT Blemeull J),emevoriiid (AA) ---- @6V 2 (HEUMTSH S LILILL I,

a) 7 eoraurf] 1992 b) 1 gLiyev 1995 o) 7 gLy 1992 d) 7 geoteurfl 1995
Explanation :

e The Airports Authority of India (AAI) was formed on April 1, 1995, through an Act of
Parliament, by merging two previous aviation bodies: the International Airports Authority of
India (IAAI) and the National Airports Authority (NAA).

eflen& & Lh:

o @HH W eNLDTET Bl6mEVUIBIGHET h6em6uoT WD (AAI) FL1T6V 1, 1995 2{6dTMI BITLMTEHLOTME &FL_L &G 6T eLneuld
Bl L gl @& FFaGHE elnmenT BlemevUBIGH6T LemeuorWiD (IAAl) LnMmmid G5 W el meor
Bl60)6ULITEI G 6T S,emetoritD (NAA) QL& W @ TesoT(®) (HenG W ellnmeorll CUMEGUTHS! SI6emL0LIL|86me6rT
@) 6METSH S 2 (HAUMTEHSLILL LG,

12. Match the following
a.Marmago - 1.Bhuj

b.Haldia - 2.0disha
c.Pardip - 3.Goa

d.Kandla - 4. Hooghli

L9l 6dT6u(IH 6U 6OTEU M MM QILIT(H S S 6 LD
alJwesT - 1.4

b.ameviqumr - 2. RQFIT
c unygL - 3.Gs:meur
d.&mevoTL_6uIT 4. @9©&6
a C
a) 2 3
b) 3 2
c) 4 1
d 1 4
Explanation:
¢ Marmagao is a major port in Goa.
e Haldia is a port located on the Hooghly River in West Bengal.
e Paradip is a key port in Odisha.
e Kandla is a large port in Gujarat, located in the Kutch region, near Bhuj.
eflen& &10:
e OOGSHIT aTeTLIS G meumallév 2 6T6T (H (NHH W SlemmLN&LD.
e  ammeulgw COMG QUBIGTS S 6L a8 el HFH&HHmTUN6 2 6MIDHSHIETET (5 SIEMHMLNGLD.
o UMTSLU @Lq&FmaileV 2 66T 6(FH (LN&HFW FlemMUNSLD.
o SIMEUTLEVIT GRITHH 2 6TeT HL&F LGH U6, LUREG AHH 6L emLnBSI6TeT @ Ul SlemmpssLd.

13. Identify the incorrect pair - Demographic transition.

a) First stage - High Birth Rate and High Death Rate

b) Second stage - High Birth Rate, Low Death Rate

c) Third stage - High Birth Rate, Low Death Rate

d) Fourth stage - Low Birth Rate, Low Death Rate

DE&ESHTAS TS IDTMHMLD QSTLILIMS &6UMITET @) 60)600T60 L 3|60 ITETLD &ITEUTaLD.
a) (pG6L Blemey - SiFls LY eSS0 whmib 9i§ls @il el&Sih

b) @TevoTLTLD Blemev - SH & LIy eSS, Gemnmbs @mLUL & LD
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o) EPEITDITLD Blemev - 24H& LmLiy eSS0, Gemobs @y el&g0

d) BTeT&HMaIgl Blemev - Genmbs LImliL &SI, Gemmbs @mUiL & gL

Explanation:

e The Demographic Transition Model describes population changes. In the third stage, birth
rates begin to fall, while death rates remain low. Therefore, the statement "High Birth Rate,
Low Death Rate" for the third stage is incorrect; it should be "Falling Birth Rate, Low Death
Rate."

eflen& & Lh:

e  IDGSHET QBT LiTalew IDTHI I0&&6T QS MTan s IMHMHIsGaeT elleuflGHmal. eneTmTD &L L& SH6,
Wl NS s BIS6T Gammwsd QSITLE SR ermenr, 285 CHIEH 6L @mLiL RS HIG6T GanmelTsGal
@ BE&GLD. eTeTGal, NETMMD &L LSEFH MG '9FH s LnliL ellSs0, Gambs @mLiL] S SI0" 6TeTm dnmmi
SUDTES); @& "GemOWb LpUL el&SD, Genmhs QUL eSS0 eTaTml @) (hE8 Gaueor(bLd.

14. Identify the correct pair
a) East coast Railway - Bhuvaneshwar b) South - Central Railway - Bilaspur
c) South - Western Railway - Mumbai d) North East Frontier Railway — Gorakpur

FiflWmeoT @) 60 600T60 W S| 60LLIITEITLD & TEUoTeY LD
a) PGS SLMHE&MT TuleuGal - LjauGeTeveal b) MG - LEHW FullevBal - LllevmevL, i
0) QO8NS - CLMHEG TullevCeu — (LPLDEDILL d) ILHp&G erevemeuliLm JulevGel - GHMTI&HLLT
Explanation:
o East Coast Railway — Bhubaneswar (Correct)

b) South Central Railway — Secunderabad

c) South Western Railway — Hubballi (Hubli)

d) North East Frontier Railway - Maligaon, Guwahati

RPHG HLMHS&T @TuilsuBeal - LiauGeTerually

Q&6 ST TulLBeal - QFSHHHTTLITS

Q56T GLME& @ruievBeal - am@Lier]

QILRLPE G eTevenev TUleuGal - L0Med & 6T, G6UamTE S

15. Which of the following not belong to tributary of Brahmaputra?

a) Tista b) Barak c) Subansiri d) Paika

L edreu (B eusoreumnileL LAFIDLOLS S T Telleir Si6m6toT HHeMWEF CEFTHS S I|6V6V 6TSI?

a) Hevgm b) LTT& ) &LerA d) emuss

Explanation:
Tista (Teesta) and Subansiri are well-known direct tributaries of the Brahmaputra River.
The Barak River forms the Meghna River system, which eventually merges with the
combined Ganga-Brahmaputra (Jamuna) in Bangladesh, but it's not a direct tributary to
the Brahmaputra itself.
Paika (Sukapaika) is a distributary of the Mahanadi River in Odisha, belonging to a
completely different river system. Therefore, Paika does not belong to the tributaries of
Brahmaputra.

eflen& &1h:
B6rvs T (Teesta) LDHMID SUMTA ] Q& Wemar LNTHOULLUSHTT BH U6 GBI Hiem6wT HHH6T @G LD.
LUDmE HS G&ETT HS SemDLImL 2 (HeUTHGHRMS!, @& QMG WTSH QUBISTINCHFSH 6L HhIGT-
HTDLUSSTT (BUErT) 2 L6t GeearGns!, perme @& HrbysH el oIl simenr 55
3|6V6v.
LGS (5:H0LIGSHT) 6TeTLS @l9.FTalleL 2 _6TeT ID&MHSH M6 6 FHemeT HH W GLD, @S5
wWwmonlevid LTMILLL S SemnlienUF CoFibhHE. elarCeal, enLIGaT LNTIDWLSSH TTelleT &6 6oor
BH sefle CFrmsg..
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16. With reference to Thanthai Periyar Wildlife Sanctuary, consider the following

statements:

1.1t is located in the Erode district and covers over 80,000 hectares.

2.The sanctuary lies adjacent to Karnataka’s Male Mahadeshwara Wildlife Sanctuary and

Cauvery Wildlife Sanctuary.

3.With its establishment, Tamil Nadu now has 18 wildlife sanctuaries.

Which of the above statements are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d)1,2and3

ShHeng QLITWTT eueTall6uki(G FIeuuTTVW S S QLITMISS e, LN6iTeuHLD N8 en & & emers;

&6 60T L 11 & 61T:

1. @& FEFM® LML L& 56V S| emLnlhSl6Tengl oM milb 80,000 Qam&CL TS EH &G GLO6L LITLILIGTen6U

Q& mevor(h 6Tenmg.

2. Q\lhS FJeuoTTELILD SFHTLE TN 6T L0C6V L0SHTECSH VU T 6UetTell 6V IEI(G FIeuuTMeVWLD WM MID &medlif]

cueuTell6UIEIE FITEUUTITEVW S H MG (BT 6L S emLofhH Fi6iTeTgl.

3. 9|5 60T Bl MIGUsYIL 60T, SLOLDBITLL96V @) LIGLITSI 18 6u6orell 6V MG & [F600T ITEULLIMI S 6T 2_6TEIT6OT.

CLOM&600TL. FaM MIG6TTl6L eTemeu FflWITeuTemEU?

a) 1 mmILD 2 L (HILD b) 2 LMMID 3 L (LD ¢ 1wmmIb 3 LG d) 1, 2 LoMmILD 3

Explanation:

e The Thanthai Periyar Wildlife Sanctuary, Tamil Nadu's 18th wildlife sanctuary, is situated in
the Erode district, covering approximately 80,114.80 hectares. It plays a vital role as an
ecological corridor, linking with Karnataka's Male Mahadeshwara Wildlife Sanctuary and
Cauvery Wildlife Sanctuary, facilitating the movement of wildlife like tigers and elephants. All
the provided statements accurately describe the sanctuary.

efllen& & L0:

o BhHmg QUIAlWMT aueTalleumi@ FFesormeullld FETT(H MeUL L &HH 6L emnhlaTengl Lnmmib 80,000
Qam&CL([HEE CLO6L LIFLILIETaN6US G 8 Teuor(h6Tensl. @\h& &FFevorTeulld &IBITL & meller LnmGey
D&TCSHALAITIT aleTeN6VEIG &FTeuTMeulILD MM &Telif] aleTalleumi@ FreaormeullSH MG 2B 6L
SIMNBSIETENGL. @B Fomm FHWTETSI, @S @@ (WWHRW GLedluley aflSSL 0MS QF LGSR M.

@) 560T BlmiausL_60T, SLALPBHTL g6V @LUICLIMG 18 6U6TeNl6UIBIE & IT600TT6V LIS 6T 2_6T6T60T. @)\H& Fo DM
giflumersy, @& &LOLDBITL 19607 186UG1 aUeTeN6UMHIEG &FT6U0TTEVIID 9y LD.

17. Which of the following are major divisions of the Thar Desert?

a) Marusthali and doab b) Bhangar and khadar

¢) Bhangar and marusthali d) Khadar and marusthali
ST LITemeueueoTs B edr (&G W L 1fley & 6T eTemeu?

a) LD([HENVG6Y LnMHMILD GG meumLl b) UMBI&T LDMMID &S

) LUMIGT MHMID @mevged d) &80 IDHMILD DHeVS56e0

18. Which of the following is not an example of in-situ conservation of plant species?

a) Biosphere Reserve b) Botanical Garden c) National Park d) Wildlife Sanctuary

L9l edTeu (B 6ueoTUM N6V 6T SHTeu @) 6T Mg 6rfleir @)L & B CeuGW LIMSHIGTLILNIME 2-GTJeuoTOMS ©)6V6m6U?

a) 2 WIJsCsHmeTs SmiUGsLD b) HTeUTel U6y LLMBIGT

¢) GEH W LLBIGT d) aueoTeleuIBIE & [T60T TeVLLILD

Explanation:

e In-situ conservation protects species in their natural habitat (e.g., Biosphere Reserves,
National Parks, Wildlife Sanctuaries). Ex-situ conservation protects species outside their
natural habitat (e.g., Botanical Gardens, Seed Banks, Zoos). A Botanical Garden grows
plants away from their native environment, making it an example of ex-situ conservation, not
in-situ.
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eflen& & L0:

e 2 6T-@L LUMgI&TLILY (In-situ conservation) eT6oTLIGI 2 WITfl6oTBIG M6 2i6UMNJl 6T @) UM 6m &5 LIT60T
aImpalLBI&6flGeuGlL LIMHISTULSTESLD (61.5M: 2 uNF&HGaHTeT STLLIGBIG6T, GHFIW L, MI&MESH6T,
QUGTEN6LIBIE &FT6U0TITEVL LIS ET). Qeuerfl-@ L LIMZEI&TLIL (Ex-situ conservation) eT6TLIGI 2 ullfleoTrhig:emerT
SleumMl6oT @ WIMen W IMeT eUMLDelLHBI&HEHEE QeleflGU LMSISTLULSTGLD (61.51T: SmeuFeallle) LLBI&STHSGET,
s bR &6, IHEESETLE FManeuse). (b Sreurellulev L,MIGIT (Botanical Garden), ST6l T IS 60 6T
SjeumiileT QFTHS aUMpPailLGHME& QeleflCGU aueTFEHEHRME!, 6TaTCal @S 2 6T-@L LIMTSIGTLIL| {606V,
Qauef-@L UMEsI&TUNDEG @ O SSIGHTLH 3&LD.

19. Which of the following wetland not situated in Ramanathapuram

a) Kanjirankulam Bird Sanctuary b) Chitrangudi Bird Sanctuary

¢) Nanjarayan Bird Sanctuary d) Therthangal Bird Sanctuary

TILBTSLTSSH 60 @6veung FIBleuld ergi?

a) HMTEHF THIGETLD LIMeMEUS6T &F6oor M6V LD b) FISH TG LIMEmEUSET &F 60T TeULLILD

) BEHEFTITUIEOT LIMEMEUSHET & [J600T TEVWILD d) CHISHHMISHE LIMEEUSET &FIJ600TTeVUILN

Explanation

e Kanjirankulam, Chitrangudi, and Therthangal Bird Sanctuaries are all located in the
Ramanathapuram district of Tamil Nadu. However, Nanjarayan Bird Sanctuary is situated
in the Tiruppur district, making it the one not in Ramanathapuram.

eflem& &1b:

e  SHEATHIGETD, ASHIHIGL LDMHMID BFEH SIS0 MG LIMen6Ud6T &FJeuorTeVlBIGH6T |6m6eors S
SLOLDBITL19.60T @ FTIDBTSLTLD 0TIl L SH 60 {60015 SI6TETEOT. 246016V, HEHE T ITUIEOT LIM 606U & 6iT
FJeUTTELWILD SBLILLT DTaUL L SH60 2 6iTengl. 6TeorCGel, @& @UTBTSLTLD DTall L SH 60 G 6vevns
LIM6DYGRUS 6T &FIJ600TITEVILD @& LD.

20. Identify the Incorrect Pair

a) Alluvial Soil - Profile shows no marked differentiation

b) Black Soil - Derivd from Igenous rocks of Deccan Trap

c) Red Soil - Process of Leaching

d) Laterite Soil - Regions of alternate wet and dry conditions

S 6UMITET @) 60600T60 L 3|60 LITEITLD &ITEUUTEYLD

a) eUetoT L6V Lneoor - &wefleugsHev GO G588 CaumiLim@h G)6vemney

b) &iflLo Levor - QLSsmer QuTMluiler @6 gerev Lmenmaeafledphg QUM L&

Q) Paulll] neoor - &HF6| QFWIRMM

d) Fgemer Loevor - LM DM FFTLOMEOT LOMMILD 6UM6T0TL [Bl6m6V8:60)6TE G & TevorL LG 5 &5 6T
Explanation

o Alluvial, Black, and Laterite soils are correctly described by their formation or
characteristics.

¢ Red soils are formed from crystalline rocks. The process of leaching is predominantly
associated with the formation of Laterite soils, not primarily Red soils. Red soils get their
color from iron oxides from the parent rock.

eflem& &1n:

® GUGDOTL_6V LD6DOT, &H(BLIL] LD6voT LoMMILD QFLDLN6vT (Laterite) euMMI6T 2_(H6UTH LD 3]6V6V S LIGI0TL|55 66V
Flwung ellalfléaLiLL (eTemeor.

e QFLDLOGUOT LILGLI LIMenMm&efley @ mha 2 (FeuTH MG L06uoT &6uUiyeV (Leaching) Q&FWcu(LhemM
(LERWLDTSH FFem6T L06vor (Laterite) 2 (HoUMeUCHTH QS TLTLIML LIS, Q&FLDLOETITEDIL 65T 6V6V.
QFLDLDETOT 2]&60T eLNELLILIMENMUIleL 2 66T @)\ (HLOL] 280 F (H &6 60 BHS 2FH6T Flaulll] BmHengLl
QUMIRMS!.

21. Dairying through Cooperatives (DTC) under Revised National Program for Dairy
Development partnered with
a) Japan b) World Bank c¢) Asian Development bank d) Myanmar
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HHSSLILLL CHFW Lmeveuer CLLUMLHS S L &S 6T GLb Fal(HM6Y Bl MI6U6DTMEIS 6T eLNEULD LITEVEUEITLD

(DTC)__ 2 1 601 L. (p GFTHSI6TETS

a) gaLILImedT b) 2_6v& eUMmIE 0) SFW eUaTFEF eumiE d) WwimesTof

Explanation:

e The "Dairying through Cooperatives (DTC)" is a specific component of India's Revised National
Program for Dairy Development (NPDD). It receives financial assistance and technical
cooperation from the Japan International Cooperation Agency (JICA), an agency of the
Government of Japan.

eflemg &10:

e FHSSLILILL GHHW LIMeL auemf&FH &L SF60T (NPDD) BLp "Fa L (HM6Y & 6T eLpeuld LIMeL 2 MUG S (DTC)" eTedTm
Fo M, QUILIMTET SJFMMHIGLD LDMHMID QLILIMTET FIeUCH&F 5 SI60pLIL] (& mLOWL 6T (JICA) &)60)600TH S
QEFWLOSSLILQRMSI.

22. Identify the states from following, which are related to Pre-Monsoon shower 'Nor

westers'

a) Kerala and Karnataka b) Rajasthan and Punjab

c) Karnataka and Maharashtra d) West Bengal and Assam

'BITFG6UEVLJ6rV' (Norwesters) 6T6iTMI 6NN SHLILIGILD LI([H6ULDEMLNE (& (NIH6D SW L 6mLO UL 60T

QSTLILemL W LOTIBl6V IS 6eM6TS & 600T LMW eyLb:

a) G&HIETIT LDMMILD &HFBITLSIT b) TTR6NVS 60T LDMMILD LIEHEF ML

C) GBUBMTL&T IDMHMILD IDS&TFTEQLQ TT d) GLOMG UMIGTETLD LDMHMID S &FTLD

Explanation:

e The pre-monsoon showers known as 'Norwesters' are violent thunderstorms that occur
primarily in the eastern and northeastern parts of India. They are locally called 'Kalbaisakhi'
in West Bengal (meaning 'calamity of Baisakh', a Bengali month) and 'Bardoli Chheerha' in
Assam. These storms are known for bringing heavy rain, strong winds, and sometimes hail,
providing relief from the summer heat and being beneficial for certain crops like jute, rice,
and tea.

eflem& &1b:

e 'BMFQGUGIVL 6N (Norwesters) 6T60TMI S6MLPESLILIGID LIHEULNENLNE S (DNHemSW LnempliQumidle,

@bSH wWreller K& LMHMILD alLHLNEG LIGH &6 gL LSS @) UL 60T Fnlqll LOEMPUIMEGLD.
@enel CLOMEG QUBIGTETSH6 ‘BeLemLIFSHS) (Kalbaisakhi) eTedrmib oi&miley 'LMFCLMed EFamm (Bardoli
Chheerha) eTedTmILh 2_6iTeaBifl6v 34600 & S LILIH T 6OTMEIT. @)HS L|WL6L&H6T CHTemL QaullLSH 6 @ hHa!
Bleumgeoorih yerflliLISIL 60T, FetoTev, QB6v LnMHMILD CHullemnev GUMedTm LIUNT&HEHEE HeoTemLD LIS G LD.

23. Consider the following statements

1. The Word Monsoon derived from the Arabic word ‘Mausim’

2. Monsoon which reverse its direction due to unequal heating and cooling of land and water
3. There will be at least 160° change in wind direction between seasons

Which of the above statements is/are correct?

a) 1 only b) 1 and 2 only c) 2 and 3 only d) none of the above
LSl 6tTeU(BLD FaM MIG6METE & 6L 60T U] M6l & 6T

1. LOIT60T (G 60T 6T6OTM QL& 6L 'QOETEFID' 6T60TM T UMTSHenSuleSl(BH&H QUIMLILILL I

2. LI(BeULD6mLD 3|5 60T Blem&Femil, Bleulb Lommitb BHleT Fwmm QeuliLb LmHmID GeflTEF W men
LTMIS6TM S

3. LI(H6UMIS @5 &G @ 6L UlleL GemmbSLILEFD 160° HMTHM HemgF H(HLOL|LD

CLOM&600TL. FaM MIG6TTl6L eTemeu FflWTeuTemeu?

a) 1 (LD b) 1 LoMMmILD 2 L HID ¢) 2 lnmMIh 3 L (I d) GmannlweimmleL g&idlevemney
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Explanation:

e Both statements are correct. The word "Monsoon" indeed comes from the Arabic word
'Mausim' meaning 'season'. Monsoons are also characterized by a seasonal reversal of winds,
caused by the unequal heating and cooling rates of land and water.

eens&In:

e @QUeoi(h FnMMISGEBHLD FFILITETENE. "L ITE0TEH60T" 6TedTM GIF M6V 'LI(HeULD' eTedTm QUITIBeTLIHILD ST &
Q& MEVEVITET 'QLDETEILD' 6TedT LIH 6O (BHS aUbH . GLoaid, Blevld Wmmid BifleT QeuslCalm QalliLiD nmHmID
GeflepL B\ NS GHIGETTeL gFMLIGILD STMHMIET LIfheUsHTev Hlemd LOMMMLD LOTedT@s60fl60T FIMLUILIING LOMEGLD.

24. Which of the following does not belong to Tropical Deciduous Forest?

1. Teak 2. Sal 3. Ebony 4. Juniper
a)land 3 only b) 1 only c) 3 only d) 2 and 4 only
L9 6dT6u (B 6U 6OTEUM N6V 6T Gl6ULILILOGTOTL 6V @MV BT ST Hemend C&FITHS G 6V60?

1.C55G 2. M6 3. B(BHMEISTES 4. gg9evf LI

a)1 LMMIWD 3 L (LD b) 1 L (LD c) 3 L@ d) 2 bmmilh 4 L (LD
Explanation:

e Tropical Deciduous Forests are characterized by trees that shed their leaves during the dry
season. Teak and Sal are prime examples of trees found in these forests. However, Ebony is
typically found in Tropical Evergreen Forests, which retain their leaves year-round, and
Juniper is found in colder, temperate, or montane regions. Thus, Ebony and Juniper do not
belong to Tropical Deciduous Forests.

eflem& &1h:

e QEULILILDETITL 6V @ 6meVWTT HIT([H 86T 61METoT L STEVMHIG 6160 HMhiIG6T @)en6eV&HemeT 2 F T8 @D LTI 6T T6L
s ILGSSLILGS TmeT. 6H&HES LMHMILD FTev T W6l @HS HTH &6V &mesorIL(GID WEHSH W
D BIGETTGSLD. @GLILNeID, &@HEIsGmed (Ebony) QLIMSEIAITS G aILILILNET L6V LIS UITET &m(h&erley
ST LIS MSI, 3i6m6u 34,600T(H (LPDEUSILD G 6DV 60 6TE & &8 606U 5 5186 &MeTH T e, GLogILD
g9eflUT GeflIbHS, LISLOMET HeVEVE LDEMVLILIGH &e6rflev SmetorILIRR M.

25. Consider the Factors responsible for the Climate of India

1. Latitudinal location 2. The Himalayas 3. Physiography

4. Upper Air Circulation 5. El Nino and La Nina

Which of the above statements is/are correct?

a) 1, 2 and 3 only b) 2, 3 and 5 only c) 1,4 and 5 only d) All the Above
@\ H B WITeN 60T &ITELIBlEMEVE & &ITITEUUTLO TEOT & ITIT600T 18 6m6rTs: &5 6L 60T U] M1 & 6iT

1. 3|ILEFCren s 2. @)LOWILD6Em6V 3. yeulwev yemLoLiL]
4. GLO6L MMM SHPMHEA 5. 6T6V [BIG6UTIT LM MILD EUIT [Bl6OTIT

CLM&EUTL. SaM MG 66 6181 Frflmers?

a) 1,2 LoMmmib 3 L GILD b) 2, 3 LDMHMILD 5 L (LD

1,4 wmHmIb 5 L HILD d) GLOM&H600TL. 60)60TSH HILD
Explanation:

e All the listed factors (Latitudinal location, The Himalayas, Physiography, Upper Air Circulation
like Jet Streams, and El Nino/La Nina) are indeed crucial in shaping India's diverse climate.
They collectively influence temperature, rainfall patterns, and the overall atmospheric
conditions across the subcontinent.
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eflers&Ih:

e @BHWTNGT HTEVHIVEHGHEH SaMLILIL L eMeTSH S ST &HEHLID (9L FCFamd @ @LILILLD, @LOUILNEm6,
Blevailieh 9jemnLiL], GLo6v &TMHM FLPMEP -Gl BEIMLLMbIG6T LMMILD 6T6V BIGETIT / 6UIT HI6OTT)
(PSR UWLDTETENE6. G)6M6 I eM6TSHSILD G eneuoT Sl @) hSH Wmeller GQeuliLld, enpliQUTSle) m/mID
R HGLOTES al6LN6sorL6v [Bl6m6eVen NG en 6T LIS & 55 60T M 60T.

26. Consider which of the following not responsible for North East Monsoon

1. Shifting of Pressure belt towards north

2. Sharp fall of Day time temperature

3. Entire South India receives highest rainfall.

4. Moving of South-west monsoon towards Bay of Bengal

a) 2 and 3 only b) 3 and 4 only c) 1 and 3 only
ULBERNEGS LIIHeULDMLNE (&8 &TTTLS6L6VTS Sl 6TSI 6T6ITLIEN &8 8 66T U] M1 & 6iT
1. &MHMWSS LOEUITL VLD 6UL 5@ CHTHE LOMMIG 6V
2. Us6L CHT QeuliLmlemevullev Fanrflw efth&&

3. Qg eTerflHHWIT ((DeUFID & enpll QUM 6y
4. Q5 6TCLOMEG LIHeULnemL eumismeT eflfl@GLmemeu GBTH SR H&TEH60

a) 2 InmmILd 3 L (HILD b) 3 LoMMILD 4 10 ()LD ¢ 1 wmmib 3 @Gl d) 4 0@
Explanation:

e The North-East Monsoon occurs due to the southward shift of pressure belts, causing winds
to blow from land to sea. Therefore, statement 1 ("Shifting of Pressure belt towards north") is
incorrect. Also, the North-East Monsoon primarily benefits Tamil Nadu and limited parts of
South India, not the "entire South India" with its highest rainfall

eflem& &1h:

e QILHINGEG LIHUDMLD (DS LDETITL6VHBIGHET QGME& CHTEHEE BHTaUST gHLIGBMS!, @) & 60TMeL
STHO BlevsH e BHE L& IeH M. 6TaTCal, Famml 1 ('STHMNSS DL VS 60T QL &G
GBHTHH W LOTHMLD") HEUMTETSI. GLOILD, QIL FP&HE LB (NSETenOWITES SLSPHITL LG MHELWD
Q56T HH Wmelledr auenTWMISSLILL L LIGHHEHHGSD L HIGLD HeTemld LIWL&EGLWD, "L
Q& 60Terl IHH WM& GLD" H & DL WG &([HeUTH eVem6v

27. Frontal rainfall occurs due to the interaction of:

a) two warm air masses

b) a warm air mass and a cold air mass

c) a descending air mass and a rising air mass

d) dry continental winds meeting moist oceanic winds

cuel(n& WenPLIAUTNeY sTeuml6T QSHTLITL STIeurnns gHUG S mSI:
a) @ 7600T(h G L_IT60T &HITMHMI [H]60Y M & 6T

b) @@ GLTeor HTHDI Bleom LHDID @G G6flf &THo Blenm

) R QDEG STHD BleOm OHMLD QG WG STHD! Blenm

d) FFTLOITE0T &6V &MMMIG 66T &FHG) & ELD 61 MesorL 856007 STMH M
Explanation:

e Frontal rainfall occurs when a warm, moist air mass meets a cold, dense air mass. The
warmer, lighter air is forced to rise over the colder, heavier air, leading to condensation and
precipitation along the front where they meet.
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eenssIn:

e alaflna empliQuITSle] (Frontal rainfall) 2 & LMe0T, FILILIGLOMET STHMIS QFTSH &eflihHs,
ILISHWTeT HTMHMIGS QSTGH W FHH &G0 CUMS gHLUBGSHMS!. QaILILILDITET, @) 6V e6UTeT &I,
&6flIBS, seTnmeT &THMler g 2 Wy BIFLUUBS &S ILGUST, RBIHHI0D gL (B, emel FhHSF &G0
ereneTwiley empliurdle] goUGH M.

. Consider the following statements

. National Parks in India are IUCN Category I protected areas
. Unlike Wildlife Sanctuary, some activities such as grazing of livestock by local
communities are permitted in national park.

Which of the following statement is correct?

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2
LS 6tTeU(BLD FaM MIG6METE & 6L 60T U] M1 6T

1. @b wmallév 2 6Ter G5 W LLMI&HTE 6T IUCN Lfley | 60 GLp LUMGISMSSLILLL LIGH&6T 9,GLW0

2. eueTell 6V GG FITEUUTITEVW S 6emS LI GLITeVeiTn), &MTeLHemL. GLOUIFF6L GLITETM Fl6v HL L8 S 6T G5 W
LLGIGMell6L 2_6iTesBIT 6UITLD 058 E5 8 (S 3]50IL0 H\ & & LILI(H) S 60T M 60T,

L etreu(pLh Sammigerflev erg &il?

a) 1 (b b) 2 I0L_(h\LD ¢) 1 mmih 2 @ Fevor(hlLd d) @ revor(hILD @) 6V6MI6V
Explanation:

e Both statements are incorrect. National Parks in India fall under IUCN Category II, not
Category I. Furthermore, National Parks offer stricter protection where activities like grazing
are generally prohibited, unlike Wildlife Sanctuaries where some limited human activities
might be permitted.

eflem& &1h:

e @Uetor(h FaMHMIGEHLD Sealmmeranel. @bHH W melley 2 6Tem CHFII LLMhISTEHS6T IUCN 6uemss Il @) 6T SBLd
GUHE OTMEIT, QUM | 26V6V. GLDEYILD, GBS T LLIBIG TEHSH6T & (H6mLOLITET LIMSISTLI6m LI 61ILOHIEG 5 68T m 60T,
SIMIG GLWIFF6 GUITETM 06oTlS HL UG &HNSHSHET QLITSIEUTS H6mLG& WIWILILIL (HETET6T, 2,607V
QUeTel VMBI & Ut MeL LB 660 Flev aUenTILIMISGSLILIL L 10605 BLEISNSHSEHEHESG 3| InG)
QULPMHIGSLILHILD.

29. Identify Which of the following statement describes Laterite Soil are incorrect?
1. Laterite has been derived from the Latin word 'Later' which means brick.

2. The laterite soils are developed in areas with low temperature and low rainfall.
3. They are poor in organic matter, nitrogen, phosphate and calcium,

4. Red laterite soils in Tamil Nadu, Andhra Pradesh are not more suitable cashewnut
cultivation

a) land 3 only b) 1 only c) 3 only d) 2 and 4 only
GouL_L6em L LD6UOT JaM MIG6Tl6V 6T QLIT(H G S LOTEITSH 606V 6T60TLIEM &8 & 600T LMl WieyLh

1. GEULLEmITL 6T6iTLISI 68 G 60T GUITTS MG WITeT 'Ceul LT’ 6TedT LIS (BIH & QUMLILILL 8, 3|&Meus|
QFMBIGEV 6T6e0T QUITHETUBLD.

2. FIEMEIT LO6UIT (S6mMHS QeuLliLIBlemev LMMID GemMIbES enPLIQUITLS6Y 2 6Tem L& SH &e6rflev euerm(pLD.
3. LnevoTevntl6L S&Ifl0Ll QUITIHL & 6T, 60 B LT 60T, LIMuGLIL LM MILD SMLEIWLD (& 6MMEUITS 2_6ITET6T.

4. 5L BTEH, AHHTU LNTFCHFEH 6L 2_6iTem FleuliL] FTemerT WO6vor (NHH Il FTGSULLEGS
QUIT(H S SO TS 606V
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a) 1 mmid 3 LMW b) 1 (D ¢ 3 L (b d) 2 InMmmILh 4 (LD

Explanation:

e Statements 2 and 4 are incorrect. Laterite soils form in regions with high temperature and
heavy rainfall, not low. Also, red laterite soils in states like Tamil Nadu and Andhra Pradesh
are actually very suitable for cashew nut cultivation.

eflen& & LD:

e  FuMMIGET 2 INMHMILD 4 HEUMTETENE. FFERET L0610 A& QeuLiLIBlemev LMHMIDL H& WeanpLIAUTLSle]

2 676 LGH &H6rflev 2 BaUmTHma!, Gammbs QalllLBlensy MMID GMMIBS DeNLD 2 6T LIGH U6 3{6u6v.
Guaild, AL BETEH WHMID WHH L LNTCsHEIh CLIMETM OMBleumkisGerfley 2 6Tem FlalliL| FIen6rT Lnesor
wWHHH FTGLINLES W& QILIT(HE SO TSI,

30. Gandikota canyon of South India was created by which one of the following rivers ?

a) Cauvery b) Manjir c) Pennar d) Tungabhadra

Explanation:

e The Gandikota Canyon, often referred to as the "Grand Canyon of India," is a magnificent
natural gorge located in the Kadapa district of Andhra Pradesh. This stunning geological
formation has been carved over millions of years by the Pennar River. The river flows
through the Erramala hills, eroding the hard rock (mainly quartzite and granite) and creating
the deep, steep-sided valley that resembles a canyon.

eflle& &10:

o  Q@eaTeflBEHWIMeN 6T &MeooTIq GSTLLIT LISTETS & ME & (Grand Canyon of India eTedTmilD S1emp&HSLILIGE M SI)

2 HH T NFCsF mElevld S&LLILIT L0MaIL L&SH 60 6enInbHSI6TeT 62(hH SMLSLOMET @UIMens LIGTeTS S TG
GLD. @bG SHeorsaul Lialuiliiey gemntoliL], Liev l6ved et 2y,600T(H &6 TS GlLIGToT6oT ITIT I S W meL

2 (FOUMGSLILLL . QLIGUoT6ror T B 6T ILOMTEVIT LDEMEVSHET aULAIUITE LI LITUIH S, 8519.60TLOM60T LITE0) M 560 6T
(PHHWINME GaUMFLenFL IommIld S Fmenerl) GG, SLLPLDTET, QFBIGES ST LisGsalmL B
LIGTeNS & MM & 2_(H6UTEH S U 6TeTS!.

31. Consider the following statements:

1. High clouds primarily reflect solar radiation and cool the surface of the Earth.

2. Low clouds have a high absorption of infrared radiation emanating from the Earth’s

surface and thus cause warming effect.

Which of the statements given above is/are correct?

a) 1 only b) 2 only c) Both 1 and 2 d) Neither 1 nor 2

LetTeu(pLh i) 560 88 6m6rTds & 616011 618 6T

1.2_WImer GL&MIGET (NSHeTenwns @&l &G FaidFeans LTS LSS5 s L b8lufler GLmurLlienu

& erfliTell & &) 6ot m 6or.

2.5 mpeumer GaEIG6T L ISuller GLumurLiltley @ hhs QeusflliLIGLL 9&FF LIl &G TaiFans 916 &%

Slemailev 2.MlEh T QeuILIWINTES6L eflemeTemeu 6 ML & Sl S 60T M 60T

GG AEMRH&ESELILLL I MEam&aerfle gl Flwmergl/&iflWimeTeneu?

a) 1 L (b b) 2 L (Hb ¢) 1 MmmID 2 @ Fevor(hLd d) 1 316V6VE 2 G 6VEMEV

Explanation:

e High clouds (like cirrus): These are thin and made of ice crystals. They are not very good at
reflecting incoming sunlight. Their main effect is to trap outgoing infrared radiation from
the Earth, which actually leads to a warming effect, similar to a blanket. So, statement 1 is
incorrect.

Low clouds (like Stratus or Cumulus): These are thick and made of water droplets. They are
excellent at reflecting incoming solar radiation back into space. This high reflectivity
(albedo) causes a significant cooling effect on the Earth's surface. While they do absorb
some infrared radiation, their dominant impact is cooling due to solar reflection. So,
statement 2 is also incorrect as it claims a warming effect due to high absorption of infrared
radiation. Therefore, neither statement is correct.

eflen& &1h:
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2_WILNmeor GLO&BIGET (Flreru CLIMETMemel): @ 6mel QLDeV6SWemal LnMHMILD L16oT] LI &HBIGHETITE) 60Tem6).
@emal 2 6Tal@ld Gl epeflenuwlll LIF&HUeILILS L AMILTEF QFWeLG IFHvemev. @aimnler (NS W
aflemene] LSWeSBHES QelellGumib 91&FF el &sHTaiFens L1958 eneullLgI&TeT, @3 (b
Gumemel CUMLE QFWeLLIL(H QeulILLWImE G eflemeremned gHLIMGSSIH M. 6TeTG6), (LNS6V FnM M)
SHAIMTEOTSI.

STLDEUITET GLOGMBISGET (6VLITITL6NV D 6V6V S & W, (LN6V6NV CLITEITMemeU): @)eneal L J&G WITeTeneal Lnmmild
B slefl&ermev gLamenel. @eneal 2 6TalBld Gl & TeisFans ellamaelefls@Gs B HLIL eIl euBev
H&&F Anbsael. @bs 25 & LF& Ll (@weouGLm) wllufler Gumurlilie Gl 55885

GeflFER wmer eflemeremed gHLGSSIRMS!. @enel Hev HHFFRaILIL] &G TaidFans o mlehFermauin, &l
oS uUeSLiL &Tresoroms: HeumnileT (&S W STEHEID Gl TaFR & mer. eTerGe6l, 3&FF el &H Tels & et
55 2 nlEh&H60 STI6TNMSG QelllLnWTSEGLI ellemerenal gHLBGSSHMS 6TeTM Sn MILD @) J600TL TS
FnMMID HEUMTETSI.

32. With reference to the “Tea Board” in India, consider the following statements:

1. It is a regulatory body attached to the Ministry of Agriculture and Farmers Welfare.

2. The Tea Board’s Head Office is situated in Bengaluru.

3. The Board has overseas offices at Dubai and Moscow.

4. The Tea Board is a statutory body.

Which of the statements given above are correct?

a) 1 and 3 b) 2 and 4 c) 3 and 4 d) 1 and 4

AHH W Cxullemev eurflwib” (Tea Board) &M & 5! L 60ToU (HLD Fa.D MIGM6TS & 61607 M6IS 6IT:

1. @) 5! GeUeTTEuoTenLo DM MID eSleUETUNGET [HEV 6NN EFFS S SIL 60T @) 6M6oTSH & LILIL L. 6(H 6 (L MEIE (LD enm

S|eMLOLILIMGLD.

2. Gz ullemev auIflLlg B 60T H6MeVEMLD | 8VI6UEIELD GILIMISeEHIfl6L | emLOfH 6T,

3. @hs auMflusH MG SILMW WLMHMID LTVCETeN6L QaueIBITL(H ] 86U608MIS6T 2 6TET6eur.

4. Gaullemev eurmrflWib @B FLLLILLT6U S60OLILITEGLD.

GG AEMH&&LILLL Sammigefley e Frlwmereneu?

a) 1 LmmILDd 3 b) 2 LoMHmILD 4 ¢) 3 LnMHmILD 4 d) 1 LommiLh 4

Explanation:
Statement 4 is correct as the Tea Board is indeed a statutory body formed under the Tea Act,
1953.
Statement 1 is incorrect because it is under the Ministry of Commerce and Industry, not
Agriculture.
Statement 2 is incorrect as its head office is in Kolkata, not Bengaluru.
Statement 3 regarding overseas offices can be tricky, but given the options and common
knowledge of tea trade, it is often considered to have a presence or offices in major markets
like Dubai and historically/currently in places like Russia. Assuming statement 3 is
considered correct in this context, then both 3 and 4 are correct.

eflend & Lh:
Fammi 4 Fflwmengl, gQemeslev Csulemnev aurmfluwih Caullemey &L L LD, 1953 @)6T HLD HeMIDGSLILL L @(H
FLLULTO SemLILIMEGLD.
FaHml 1 HUMTETSI, JG6Ten eV @S QUFHSE S NMHMID QFTLZINM MINEFFSHSFH 6T HLp 2 6TaTsl,
ANaIFT SMDFFHSH 6T HLD 9606V.
FaDml 2 HEUMTETSI, FCETE060 3IH6T FEMEVEDLD SV SHLD QHTLHSH TN 2 6TemEl, 6LIMIS e a6y
3|6V6V.
QeueflBITL(H VUG BIGET QGTLTLITET Fnmmi 3 FleHaHe0meongl, 2,60mmev G emallulledr @ pedlaviin
Cawilemev aliHsHsHD GMIHS QLIMTS mlellain, SILMU MmMID FaquIT CUTETM (WNHHIW Fhengs6rfley 95l
([ G HLIML SV6VSI SNIEUVHMHIGEN6ETE Cl&H T (HLILIGTHS HHSLILMG LS G LIGHLOLIMTEILN
FAWMeTCs. FammI 3 @B G606V FIfILIMTETSI 6TedTMI &([HH 60T, 3 LDMMILD 4 & W @) FeuoT(H LD
Frflwmeoreme.

33. Consider the following States:
1. Andhra Pradesh’ 2. Kerala 3. Himachal Pradesh 4, Tripura

Page 14 of 36

Contact : 93634 65657/93636 01008
Telegram Link https://t.me/ChinmayaTnpsc



https://t.me/ChinmayaTnpsc

CHINMAYA ACADEMY FOR CIVIL SERVICES

How many of the above are generally known as tea-producing States?
a) Only one State b) Only two States c) Only three States d) All four States
LSl 6dTeuHLD LOITIB 6V IS 606TE 556U 6011 L] MBI &5 61T:
1. B STl KWNres &b 2. G IyerH 3. @urEFeLll KNTGCsH&FID 4. g\rflygm
Cumaanlweumlev T Hemenr G ullemev 2 MHLIGSEH Q&I LD LOMIBlEUEIGET eT60TM 36010 & &L LI[H & edTmeor?
a) G (B LOMBlevLd b) @mevor(h LOITIBl6VIHIGs 6T C) eLNGOTMI LOMIBl6VIBIGGT  d) [HITEITE LOITIBl6UMHISsEHLD
Explanation:
e Assam is the largest producer of Tea in India. Assam produces almost half of
o the total tea made in India. Major tea-producing states are Assam, the hills of Darjeeling and
Jalpaiguri districts, West Bengal, Tamil Nadu, and Kerala. Apart from these, Himachal
Pradesh, Uttarakhand, Meghalaya, Tripura are also tea-producing states in the
country.
e Hence, all options are correct
eflen& & Lh:
e  I&Mb @pHwmailey Caullemey 2 muGH W6 WasLIQUflw WTBlenTGL. @bH wreller Qmss Caullemney
2 MusH UL R LSS L UMTH emlle 2 MUSH QFUWiILGHmS!.
WERW CUlemev 2 MUISH Q&FUIWLLD IDTBleVBIGET HFMD, LTFesledn wnmhmibh e
DmeUL L Mmigerfler LnemeulILIGH &6iT, GLoM @G eumismerid, SLAPBHT6H WHMID CHT6TT & U6 @& LD.
@emel ey, @UTFFeLl LNTCHFLD, 2 HHT&HTeoTL., GLOSmTeuW T, FfILTT & Wemaul]d BT 16T CHuUlemev
2 MUSSH QFUIWLD OMHIVBIGHET 3G LD.
6TeoTB6), QHBTHSSLILIL(H6TET 3jen6rs S el ([BLILIMISEHLD &l UmeTenel.

34. With references to India, Didwana, Kuchaman, Sargol and khatu are the names of

a) Glaciers b) Mangrove areas c) Ramsar sites d) Saline lakes
@ HSH WmemneuLl LMMIW &mLIL|8EBL60T, )& 6UITETIT, (&&FTIN60T, FFECSHIT6L LoMHMID STL( 4 Wenel
eTaumemm&s (&) L1L9 (H) S 6T M 60T

a) LeoflLiLmen m&6iT b) FaILILBlVL LGS &6T C) OTLD& T &6IhI&H6T d) 2. Uy giflser
Explanation:

Didwana, Kuchaman, Sargol, and Khatu are saline lakes located in Rajasthan, India. These
lakes, often called playas, are characterized by high salt concentrations due to their undrained
basins where water collects after rains and evaporates quickly. Didwana Lake in Nagaur district
and Kuchaman Lake near Kuchaman city are notable for salt production. Sargol and Khatu are
lesser-known saline lakes in the arid Thar Desert region.

eflemg & 10:

FHEUTETIT, GEFFTLOET, FFGSHT6V IDMMILD &L (B H iemel @)HH UITeNl6dT TE6VS 60T LOMBleVEH 6L 2 6iTer

2 U gifl&er oG, @bs gifl&6T, QUBLLTaILD LNGCaTWITES6T 6TeoT 2emLp& & LILIMG S eTmenT, nenLpd &Ll Leor
BT CamIA allemralmss el WML 2 UL Blenmbs LIGH&H6TMES 2_6TaTer. HTda ] Inmall L &5 2 6Ter
FGaUmeT T g flULD, GFFTINGT BHISH MG 2 HH 6T GHFF6T gl 2 L 2 MUSH &G QUi
QuUMMEmaL. FFC&HTEL LDMMILD STL(H R U6l ST LIMTemnevalsll LIGH U6y 2 6T6T Genmeumds mlwiii L
o LIy gifl&erm@Lb.

35. The black cotton soil of India has been formed due to the weathering of

a) Brown forest soil b) Fissure volcanic rock

c) Granite and schist d) Shale and limestone

@hHS WImelledr & [BLIL LI(HS S LOGTOT 678 60T & ITIF6U0TLOMS 2_(Th 6 TS W 6iTermg)

a) LWL &m( oeoor b) LNemay eTflnemev LITemm

c) PmenesTL. MHMILD vl d) a6V LDMHMILD Sr600T600T TLDL {85856V
Explanation:

Black cotton soil, also known as regur soil, is primarily formed due to the weathering of fissure
volcanic rocks, particularly basalt, found in the Deccan Traps of India. These soils are rich in
minerals like calcium, magnesium, and iron, giving them their characteristic black color and
high fertility. They are predominantly found in regions like Maharashtra, Gujarat, and parts of
Madhya Pradesh, where volcanic basalt rocks have undergone weathering over time.
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eflen& & L0:

SBLIL LUHSH L060oT, QJFal LD60T 6T6iTMID S eMP&HSLILGRMS!, @& (NSETennWTS @) HS W melledr QL& 8 meor
afliumenmuilev &meoor ILI(RID LiIFmeul GUmesrm LilaTey eTifllnemeul] LIMemmas6rtledr Limemnm Flem &6 mey

2 (FUTHRMG). @)HS L06voT6001 160 HTELFIWILD, L0&H6TF WD WMHMID @IHLOL CUTETM SHMTSI&HS&H6T BlenmBHH (HLILIST6,
@5MHE& SHGLIL BIMUWLWD IH & aleT(nd BenL&RMmS. @66l (N&EHWINMTS IN&TTTAYLTT, GHQTTE HMmILD
LSHWL NTCHFEH 6T Flov LIGH serflev & mevor LI (H & 6dTm 60T, i@ 6TflLnemey LIMEFMeVL. LITen M &6iT
STVLICUTESH LITenmF Flem G 6lme) 2_(H6 T 60Tmeor.

36. Among the following, which one is the least water-efficient crop?

a) Sugarcane b) Sunflower c) Pearl millet d) Red gram

L etreu(peusoreumnlev, &8 Genmbs BT B metr Q& mevorL. LIUNT eTSI1?

a) &G b) &lwasnHS) ) W58l Hever d) QFbu@GLIY
Explanation:

Sugarcane is the least water-efficient crop among the options provided. It requires a high
amount of water, approximately 1,500-2,500 mm per crop cycle, due to its long growth period
and high transpiration rate. In contrast, sunflower, pearl millet, and red gram are more water-
efficient, with pearl millet being particularly drought-tolerant, requiring only 250-350 mm of
water. Sugarcane’s high water demand makes it less efficient, especially in water-scarce regions.

eflers&1n:

QaTR&&ILLL af@pLiumkgefe &L Wsa|n Gameurer BT Hmer Q& mevor LWIFTGLD. @S5ME& @ Lully
FOMHAHG CHTITWIDTS 1,500-2,500 LALS BT CaHemauliLGHRMS!, @ &6 Hevorl aueTFFF &Teuld LDMHMILD 3H&
Brmed QelellCuwmm NS GD &TFTnM@GWD. MMMS, GFWsETHES), &L WHMID SalenT W& weneal L&ean
BT et Q& MeuoTL_eme, GMILILITSG SL S| ML Flenuwls &MThSH&EF QS @FHME& 250-350 WS B
LLHCL CHemeal. HHLOLN6T 2T & BT CHemeau, GMILILITS BT LMHMITHGmM 2_6T6T LiGH Herflev, @ ens

SN MEUTET HM6T QB MT6T0TL_ ST 3,58 &GFMSI.

37. Consider the following statements:
Statement I: The amount of dust particles in the atmosphere is more in subtropical and
temperate areas than in equatorial and polar regions.
Statement II: Subtropical and temperate areas have less dry winds.
Which one of the following is correct in respect of the above statements?
a) Both Statement [ and Statement II are correct and Statement II explains Statement I
b) Both Statement I and Statement II are correct but Statement II does not explain Statement I
c) Statement I is correct but Statement II is not correct
d) Statement I is not correct but Statement II is correct
L 6dTeU(BLD Sn.M MIS6016TE &5 6L 60T UL Ml & 6iT:
o |: LDSHW Cremns LOMMILD SiHeULl LIGHHemeT el Sl16me6uoT Q6ULILIL06UITL 6V LoMMID LOS@6eULIL
L06uoT L6V LI& B & 6rflev euerfllneuoTLeud Blev 2 6iTem ST G SIS 6TSH 66T 9 6Tey B HINMS 2 6TenGl.
FaMml ll: H16m6voT Gl6ULILILD60OTL 6V LM MID GG 6ULIL L06v0TL6VL LIG B & 66 aumenorL &M M (&6MmeuTss
2 _eiTengl.
CLOM&EU0TL. S M MIGEMETL QLITMIGH S 6UeT LI 60T6u(IH6euetTeuM N6V 6T FHlWmeursi?
a) MMl | DOHMID FaM) 1| @ TeooT(HLD FIflWImeTen e, Samml Il Fammi | & aleTsGH M
b) M | LDHMID Famm 1| @Fevor(LD &FiflulmeTen e, QLEoTITEV Sn MM | Sammi | &3 ellerd s elleveney
Q) Fammi | FFILIMTETS ,60TMT6V FaMmI || &FiflWITeTS 3j6V6V
d) Fammi | FHIULMTETS! S(606V 3LETTEL S MM || Ffluimetal
Explanation:
Statement I is correct because subtropical and temperate areas, particularly regions like deserts
(e.g., Sahara in subtropics) and semi-arid zones, have more dust particles in the atmosphere due
to dry conditions, sparse vegetation, and frequent wind erosion. Equatorial regions are humid
with dense vegetation, reducing dust, while polar regions are cold and have less exposed soil.
Statement II is incorrect because subtropical and temperate areas, especially deserts, have more
dry winds, not less, which contribute to dust suspension.
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eflen& & L0:

IMflGems | Fflumenal, gaerentle 2 LIQeulll nmmib IsQeaIlIL LGS &erfley, GnlLILITS LT 6V 6. 60T IS 6T
(6L.&IT., FQMITIT) LDMHMILD eMT eUMe6oITL LIGH &6rfley, 2 6l Blemeudei, LW WenmLiL] Gemme] LDMHMID 21985819
STHM S ST IeoTIOMS 66N VS H 6V SNES SIG6TH6T FH G 2 _6TeTer. LLInSHUCTens LGS &6t
FILUSI&S6D L THS LT wenmLiLL e @GLILSTE ST Gammel, ACHBCLIM6 Si[Heaull LGS &6t
GeflFERWMSEaLD evor QeuefllILIL TS STEH|D 2_aTare. SIMl&ans || Haummersl, ¢ Qerefley 2 LIQaulL InMHmin
N5 eaIlL LGS serfle, GNILILITSG LITeneuealaThigsefley, 2 v &THMISGET HFH &I, G melevey, @S Se
UPUUSHS 2SS DS

38. Consider the following statements:
I. Without the atmosphere, temperature would be well below freezing point everywhere on
the Earth's surface.
II. Heat absorbed and trapped by the atmosphere maintains our planet's average
temperature.
III. Atmosphere's gases, like carbon dioxide, are particularly good at absorbing and
trapping radiation.
Which of the statements given above are correct?
a) I and III only b) I and II only c) [, II and III d) I and III only
LS 6tTaU(BLD FaM MIG606TE & 6L 60T UL I 6iT:
. euerflLoeuoTL6uLD @ 6LEVITLOG6Y, L SluNl6dT CLMUITLILN6L QeuLliLBlemev eTéL6VIT @) L Mg erflevilh 2 enmLieof]
Blemevs: &8 BCLD @\ (H& (S LD.
1. euerflneuorL V8 &5 MeL 2 MEGBFLUILLG CFLH&SHELILGM L QeuliLLh B B rssSS 6T Frmei
QeauliuBlemevemwl LIFTLR&ESHMmEI.
. STT LT 0L oL856n&F[H CLITETM euerlnetoTL 6V UMW & &6T SHTaidFeans 2 Meh & CFLEILILIG 6
GMLILITES A mibHSemeu.
GG AEMH&SLILLL Sammigefley erg Frlwmereneu?
a) | LbmMIW 1l LD b) | LommiLd Il Lo (BLD o, Il nmoin i d) Il ommid 1l LB
Explanation

o Statement I: Without the atmosphere, Earth would lose heat rapidly to space, causing

temperatures to drop well below freezing, similar to the Moon’s surface.

Statement II: The atmosphere absorbs and traps heat through the greenhouse effect,
maintaining Earth’s average temperature at about 15°C, suitable for life.

Statement III: Greenhouse gases like carbon dioxide and methane in the atmosphere are
effective at absorbing and trapping infrared radiation, contributing to the greenhouse
effect.

eflen& & Lh:
M&ems; I: auerflinevor_euld @ 6veumaill L mey, LA QalliLiGens elleorQealeflaE ellemralns &L S,
@S 6TTeL QaILILIFBlem6L 2 emmBlaneus & HCL GenmuLD, FHS Terfler CLmUTLIL CLITe @) [H&HGLD.
MI&em & II: auerflLnetorLeuld LIGemn@evev aflemnerme] eLneuld QelliliGens 2 Mlehd 586 5Hmelus g,
wdluler srmefl QailiLplensvenl &my 15°C 9us LUFT&ESHma, @& 2 ulflarhseErsE ghms.
M &em & Il a6l Ln6toT L6V STV 2 66T SITTLIET 0L 2b85en& () MM L& EC5 60T GLIMETM
LIGemLD@) 606V QUM EEET, 3I&FF el T TeaiFengd 2 nlehd F5H5nalLILTH60 HmenLnwmerenel, @S
LIGemLn@ 6vev ellemeneyds @ Limisef &SR mS!.

39. Assertion(A): Rainfall is one of the reasons for weathering of rocks.

Reason (R): Rainwater contains dissolved carbon dioxide and atmospheric oxygen, which
contribute to chemical weathering processes.

Which one of the following is correct in respect of the above statements?

a) Both A and R are true, and R is the correct explanation of A.
b) Both A and R are true, but R is not the correct explanation of A.
c) A is true, but R is false.
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d) A is false, but R is true.

Fa Ml (A): LITeMMEET Fleh & eUenL6UsS MG LDemPLIQUITLS6 6(H &ITFeuorLD.

&myeoorid (R): LempBIfleL HenHs &TITLGT 60l IL5Eem&[H LMMID eUeIL0euITL 6V 24,8 6r9 60T 2_6iTemeoT,
@ emeu @IEFMTW6TE Flem 6| C&FW6L(LNMME: €5 LM g 6rfl& S 66Tm euT.

CGLOM & 600TL. o (D MIG 6T &GN &SI L) 60T6U (I 61 60TEU M MIET 6TSHI FlWIMeOTHI?

a) A LnMmILd R @resor(id &ifl, Gosuih A el & R Frflwimer afleng &M@ LD.

b) A LnMMID R @reoor(GID &Fifl, 6016l A el @& R Fiflwiment ellemds&Lnev6v.

o) A &1fl, 960TTeL R Seumi.

d) A HEUMI, S4,60TITEV R 2_600T60ILO.

Explanation:

Assertion (A) is true because rainfall contributes to the weathering of rocks through physical
processes (e.g., erosion) and chemical (e.g., dissolution). Reason (R) is true as rainwater contains
dissolved carbon dioxide, forming weak carbonic acid, and oxygen, which react with minerals in
rocks, causing chemical weathering. R explains A since the chemical weathering processes
driven by rainwater’s composition are a key mechanism by which rainfall weathers rocks.
eflen& & Lh:

FnHmI (A) 2_650T60ILD, FQ6uTevtl6v LnemBT Limem m&erfledr Limemm Fengalm@ 2 SaHmaEl, @uimLiuwlev
QEFWLNEM&ET (61.50M., L) MHmid CeuHuiliich QFWIVUNEMEET (61.5IT., HEMTLIL]) eLN6VLD.&TT6sorLD (R)
2_auoTenILn, QR aurentlev e Bl HenTHS SHMTTLET el HengF () 2_6Tengl, @& Lieveierinmer &myCLUmenfls
SflENS 2 [(HaIMEGHRME!, LDHMID 3b,56eNR6T, LIMenmaetle) 2 6T6T &IS58 s EbL6r ellenerfbHEl
CauGHuwilwiey Limemm WI&UTLenL ghLIH S ST eTmet. R aL6e0ral A 8 ellama:GHmS!, F6leurentlev LoempiHifleor
HeVEMAUUIMeL 2 S LUILIL L GauHullwiey Limemm m&UTH QF W6 WenmE6T emLpBF LIMTenMm&eneT &g s @D
WESERHW auflpemnmLmE@GLD.

40. On June 21st, the Earth's tilt causes which of the following lines of latitude to
experience daylight for more than half a day (12 hours)?

a) Only the Equator b) Only the Tropic of Capricorn

c) Tropic of Cancer and Arctic Circle d) Equator and Tropic of Capricorn

9601 21 9Llb C5S), UL uletr &Fmuley &Tyeuroms: LIerau(HLD L FCTens&: & erTlel 6ThS 6 60Tm | 6nif
BITEH& G CLeuns (12 LatICHTSHH MG C6) Gl QeaueFFsams oigiLIaldEGLn?

a) LLInGH W Grenss L (HILD b) I0&T Grenss oL (LD

0) HL& CIem s LDMMILD 2 F&HLq.8 UL L LD d) LWGH W Crems WMHMILD D&T CTend
Explanation:

On June 21st, the summer solstice occurs in the Northern Hemisphere, when the Earth's tilt
causes the Sun to be directly overhead at the Tropic of Cancer (23.5°N). This results in the
longest day of the year for the Northern Hemisphere. Locations at the Tropic of Cancer and
northward, including the Arctic Circle (66.5°N), experience daylight for more than 12 hours. The
Arctic Circle, in particular, experiences 24 hours of daylight (polar day). The Equator always has
roughly 12 hours of daylight year-round, while the Tropic of Capricorn (23.5°S), in the Southern
Hemisphere, experiences less than 12 hours of daylight on this date.

eflen& & Lh:

7960 21 6T, AIL GG SMT&HCHTEH CHTenL FRIKTTHS BHLIAMS, ALCLTS L blulleT Frile]
SMJeoTLomg: G Iluler &L8& Cremasuilev (23.5°) GBIIQUIMS 2 FFRUI B (BHGLD. @S QUL &G M JHCHToTS T 60
21,600T19.60T LO1& [B6UOTL LIG6M6V 2_(haUMHGH MG HL& CIend DMHMILD HFHME L HCS, LT5HIQ8 Il L LD (66.5°6)
2 L LIL, 12 6ot GHISHME& CLO6L LIS CHISMS 3| elLials5H eTmeor. o4i5H198 all L &H 60 GmILILITS 24 0evof]
GBI LIG6V (SI(H6 LIG6V) @ (H&HESD. LLInSSH W Crensuiley 9L60oT(h (DU &I0MF 12 6ol GBI LIGH6Y
@SS LD, SLETITEV I0ST CTend (23.5° Q5), OFMEGS MTHEHTATSH ) @ (HLILIGTE, @hs CHH U6V 12 Lnevor]
CBIST DG GMMEUTET LIg6) GBS ieiLell&ESLD.

41. With reference to the major hill ranges of India, consider the following statements:
1. The Amarkantak Hills lie at the junction of the Vindhya and Satpura Ranges.
2. The Biligirirangan Hills (BR Hills) are a range in southeastern Karnataka, acting as a
bridge between the Eastern and Western Ghats.
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3. The Seshachalam Hills are a part of the Eastern Ghats in Andhra Pradesh.

How many of the statements given above are correct?

a) Only one b) Only two c) All three d) None

@ HH Wmelleir (NHE& W LDMVSQSTLITSHET &M &SI, LN60TaUIHLD FaM MG 606TE & 6L 60U Mg 6iT:

1. |0 EOOTL.& LD6M6L & 6T aflh S W LoMMILD FSTTLTIT LDeMeVSQ S TL TS 6T &S LILN6V o emLLh Si6iTeTeor.

2. 969 fl 7 18 60T LD6M6VE 6T (BR LDEMEVE6IT) QG TELOM S SITHITL&TaN6L 2 6T6T (B LDEMVSASTLIT

LG, @8 FAWP&HEGS LMHMID CLoMES QSTLIFF DemeLEHEHSE @) emLCW 6 (5 LITVIDMTS QFWeLHS M.

3. GFaQMEFID LDEMEVEET SLHB T LNTCHFS B 6L 2_6Tem HWP&HES QFSTLITFSF nemeuulleir e (H LGS WTESLD.

GG QEHMHGE&LILILL ammiserleL &g eneur &iflWmeoremneu?

a) 60Tl 0L (hILD b) @ revor(h oL (HLD c) eLpedTml L0l (Rl d) dergl6)LD @)6V6m6V

Explanation:

All three statements are correct:

e Amarkantak Hills: Located in Madhya Pradesh, these hills are at the junction of the Vindhya
and Satpura Ranges, serving as the source of rivers like Narmada and Son.

Biligirirangan Hills (BR Hills): Situated in southeastern Karnataka, these hills connect the
Eastern and Western Ghats, known for their biodiversity and the Biligiriranga Swamy Temple
Wildlife Sanctuary.

Seshachalam Hills: Part of the Eastern Ghats in Andhra Pradesh, these hills include the
Tirumala Hills and are recognized as a UNESCO Biosphere Reserve for their ecological
significance.

eflen& & Lh:

e  IIDIHEUITL S LDEMEVEET: INGH WL LITCHEFST6 DB SI6TeT @)HS Demev&6T, B WIT IDMHMID F&HLTT
DMV SQGTL TS 6T &FHS LILN60 2 6iTemenr, BILOST LDMHMILD C&FMedT GLITETM & mIG6rfl6dT eLNEULNITE 2_6TerTeoT.
N6 &R 17 mi & 60T L06emeu 6T (BR LDEMGLSET): HFHITL ST QS5 6TR PSR 6 2|6emInHSI6TeT @)\HS LDEM6EVSHET,
FRP&HG HMID CLMHEG QSTLIFSF LDV 60T @)6M6eTTe @G LD LIMTeULNTS 2_aTemeor, Lisuew ud
QUBSHSESH DG LR FTks seaumd Gamuile aleralleumni@ FreaormeullSH MG QLIWT QLIMHMeE.
CFaQMFEIID LOEMEVEET: S HH LI LNTCHFEHTH 6L 2 6T6T HP&HEG QFHTLIEF Lnemeus6rfler e LIGH WMESLD,
@ em6l S (HLOEM6V LDEDEVEEMET 2_6TeTL &G Wemal nMmmIlD UNESCO 2 uljsGasmar @@Ll nmss
IBIESFEHELILL Leme.

42. Choose the Correct Pair

1. State with Very High Population Density - Uttar Pradesh

2. State with Very Low Population Density — Arunachal Pradesh

3. Union Territory with Very High Population Density — New Delhi

4. State with Low Population Density — Lakshadweep

a)1,2only b) 2,3 only c) 1,23 only d) 2,34 only
Frflwumerr @ emetoTen s G HO S M & & a]Lh

1. 198 9B & ID&ESHET QTS ILFT&HS Q& TeorL I0MBleVd - 2 5571 KNTCs&ID

2. 958 GOMhS D& SHET QHTMS LTSS Q&MeuuTL WOMEFleULD - 9|(H6vor TEFL LNTCH&FLD

3. 8% 9B & ESET AFHTMSG LTSS Q& mevorL W,eoflwer NTEH&FD - LS Hevedl

4. GOMHS LD&SHET QS TNS LTSS C\&MeoTL LOMBleVLD - VL &SHG 6

a) 1,2 LRI b) 2,3 oL (RILD 0 1,23 L @ELW d) 2,34 L_@Lb
Explanation:

e State with high population density in Bihar

e Lakshadweep is not a state, it a UT with high population density

eflen& & Lh:

¢ IIH& HHET ILTHB Q&TeUoTL OMBlelh — LY&mT

e WLFSEH6| @ DTHleVID {606V, ISl TS INHGHET IILTEHH Q&TevorL 62 WhLeoflwedm LIyCs&in

43. Assertion [A]: The year 1921 is called the year of Great Demographic Divide
Reason [R] : The year 1921 registered a Positive growth rate of 0.31%
a) [A] is true but [R] is false
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b) Both [A] and [R] are true; and [R] is the correct explanation of [A]

c) [A] is false [R] is true

d) Both [A] and [R] are true; [R] is not the correct explanation

Fami [Al: 1921 94D 4,600T(H QLIIHLD D& SHTAGTen gL L fledlemenr o4,600T(H) 6T6OTMI S eMp&EHLILIGR MSI

&TIeuortd [R] : 1921 9ulb 9L600T(H) 0.31% CHITFLOeNM euenT&FF R FHHmG LI LIS 6y Q&FUIS S

a) [A] &1f] speTred [R] Heum!

b) [A] LnMmiLD [R] @ Tevor(HLD &F1fl; Gogvild [R] eTedT LG [A] @ 60T Fiflwimeot eXlamdasLn

o (Al ey [R] &1f]

d) [A] LoMmiLd [R] @Tesor(Ld &ifl; [R] eTedTLIZ Fiflulmeot ellemg:ssn 3j6v6v

Explanation

o The year 1921 registered a negative growth rate of -0.31% which happened only once
throughout the demographic history of India and is called the year of Great Demographic
Divide.

eflen& & Lh:

e 1921 Quld e00T(h -0.31% eTHTLDemM aUeTIEFF R FHMSL LFH 6| QFUISS, @S @)\HF imeller
IDESHETOSTNS aUTTHNI6L 2@ (Wemm L HGD BI&GLPHSSH LMHMILD @& CILIHLD LDSHSHETRS TN L
Lfleflemeor au600T(H) 6T60TMI S6MLPEHSHLILIGISR M S

44. The ratio between the economically active and economically inactive of population is
termed as

a) Demographic Dividend b) Dependency Ratio

c) Age composition d) Economic Independent Rate
QUIEBETTSTT FHIWMS QFWOLLES W MM QUTHETTSTT FHWTS QFWeMM 0HSHTOSTENHE S
@enLulleuret NISGID _ 6TaoT PSS LILGHMS

a) D& &HETRG TN S FF6) &6 & Tends b) &#miy @ 1D

) QUG emiDLiL] d) QUTGBETTSTT &GSHH T NH S0

45. Which of the following are the major problems of urbanization India
1. Urban sprawl 2. Overcrowding
3. Formation of slums 4. Urban Agglomerations
a) 1, 3,4 only b) 1, 2,3 only c) 2,3 only d) 2,3,4, only
L9l 6dT6u (1B 6u eoTEU M N 6L @) I B LITeNl 60T [H & T LOWILDITE 8601607 (&G W LN [JFF)6mr60TSH 6iT 6TemI6U
1. paFULm efifleurssin 2. apiflEev
3. G960 &F LGB 6T 2 (HeUME LD 4. B&IFLILM 6 (MG 6t 600T LIL| & 61T
a) 1,34 LG b) 1, 2,3 LD )23 LB d) 2,34, LG
Explanation
The following are the major problems of urbanization india
creates urban sprawl.
makes overcrowding in urban centres.
leads to shortage of houses in urban areas.
leads to the formation of slums.
increases traffic congestion in cities.
creates water scarcity in cities.
creates drainage problem.
poses the problem of management.
increases the rate of crime
eflem& &1b:
QB S Wmellesr H&FLOWINMSES 6T &S W LNT&FEF emersseT L9 6reu (H e 6oTau MG LD
= peIUUM Aflamsssemns 2 [HalTsGH M.
= BaIULUDBISTle QBFame ghHUB SSRGS
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BT LILMEBIS6T 60 6fH&6T LImMmTHGmeE allblaGsER M.
Criflmeamer 2 (Haumss allflal&GasER M.

CUMTHGTSHS QBflFame IH&FEH M.

G600T600T T LIMMITE GHemMen Ll 2_[HeUTHGSGH M.

QILGHTEL F1E5606V 2 (HeTEHGR M.

Blieuns A& gHLQSSRMES!.

GOHD NEGSnG AP &HEH DS

46. Consider the following statements regarding the history of air transport in India:

1. The first air transport service in India began in 1918.

2. Eight airlines were nationalized in 1953.

3. Indian Airlines was primarily responsible for domestic air services.

4. Air India was primarily responsible for international air services.

Which of the above statements are correctly associated with the given historical facts?

a) 1 and 2 only b) 2, 3 and 4 only c) 1, 3 and 4 only d)All 1, 2,3 and 4
@ HHWmellev eflnmerll GUIME G TS S euTevTn GMISHS LN60TeU(HLD Su M MISHeM6ITS & 6160l Mg 6T:

1. @hSwmalléh 6L alllnmeTll CUITE GeuTS S CFeneu 1918 @6V QHTLBIG W SI.

2. eTLL() e9\L0ITeoT Bl MI6U 6T IS 6T 1953 @) 6V [ ITL(h L60ILO WL T&H & LI LI L L 60T.

3. @\ H B WEHT 6 Tem6VEiTerV (NS WILDTE 2 6THITL({H aSnmeT CFemnoUs Eh& S QUITMILILITS @ (HHS 5.

4. g7 @BBWIT (N&EH WIS FTauCHF 6ll0MeT CFenalsHEbhs & QUITMILILITG @) (HHS .

GG AEBMHGSLILILL SaM MG erfleL 6788 60M60T 6UT6VITH M 2 600T6ML0 S @5 L60T &FIflWME Q&ML ITL|60 L emeu?
a) 1 lnmmILd 2 L (HLD b) 2, 3 InMHMILD 4 0L_(HILD

c 1,3 LMmmID 4 LGB d) 1,2, 3 nmHmILD 4 SeD6ETHSILD

Explanation:

1. The first domestic air mail service was started in India between Allahabad and Naini on
18 February 1911. However, commercial air transport officially started in 1918 when a
weekly airmail service began between Karachi and Bombay by a British company.

. In 1953, the Air Corporations Act was passed, and the government nationalized eight
private airlines. These were merged to form Air India (for international services) and
Indian Airlines (for domestic services).

. Indian Airlines was formed in 1953 and assigned to handle domestic and regional routes
within India.

4. . Air India, under the ownership of the Government of India post-nationalization, was
designated to operate international routes.

eflemg & 10:

1. @B Wmeler 56ev alDmeT 2|EhdF6L Gaemel 19119410 600T(H 26L& TLITSH-6mB60( 18 & @ 6nLulley
SIQIBIGLLILL FI. 95,6076V 6ueunlgs eflnmeor G&Feme 1918@)60 HITEFH LoMHMILD (WPDMLIGES @ 6L G
SlaBIsILL LS.
1953-9u b 9y,600T(H "Air Corporations Act” &1L &5\ 60T eLpeuld 6Tl (h) Seoflwimy el LmesT B m)16) 60T 61 & 6T
CHAWIDWIDTESLILIL L 6. 2jemel eedTmlemeoord&LILIL (B Air India (DM MID Indian Airlines 21,8 ULien 6l
2 (HEUTEHSLILIL_L6OT.

Indian Airlines 1953@) 6 2_(Heum&&LILL({H @BEH W TelM@G6T 2 6Ter 2 6THMTL(H Wmmid LNgrHEHw eiliomeor
CFMAUHEMET GLOMG & TE00TL_Sl.
Air India, 3|7 6T SLp 1953@)60 AMNESLILL D), LietTerTl(H& STLILN6 CFemauemnl aULpBIHIUISI.

47. Consider the following statements regarding the Border Roads Organisation (BRO):
. The BRO primarily constructs and maintains roads in India's border areas to improve
accessibility.
. Beyond India, BRO has engaged in infrastructure projects in various friendly countries,
strengthening diplomatic ties.
. The BRO is credited with constructing the world's highest motorable road, connecting
Chandigarh to Leh.
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4. The organization was established in the year 1960.

How many of the statements given above are correct?

a) 1 only b) 2 and 3 only c) 1, 2 and 4 only d) all the above
@G W 6TELEMV FTEMEV G ET SeMmINLIL] (BRO) G &SI LIl6tTeu (LD Fo ) MISHEMETE & 61601 U] MG 6lT:

BRO (L0 &60TemOW TS @) HS) W mell6dr eTéLemeVL! LIEGH S 6rfl6L FmemeudeneT 36mng g LIFTNls sl

9| &HLGTemNemW CUIDLIMSSIHR M.

@ BB Wmelm @S S LILmev, BRO LI6uGeumi L L] TR &G6rle 2 6Tsm L LemnliL L LBigerflev FOUL®D,

QITRsHHT 2 maysamer auILILESS weTergl.

F6uoTL. & 60T C6V6YL.60T @) 601600TE (LD 26V T 6T L& 2 WITLOMeT CLOMLLITT FTem6V {6005 GLI(HEmLD

BRO-& (& 2 6vor(h).

@\HS 3emnLiL] 1960 94D 31600T(H HlMIEULILIL LS.

GG QHMH & & LILILBHETET FammiGerleu ergl/eremeu &iflumeoremeu?

a) 1 LG b) 2 LnHMID 3 L (LD

01,2 wMmmibd 4 L BHID d) GLOG6VL 2_6IT6T |6mEITSHSILD
Explanation:

1. The Border Roads Organisation (BRO) is tasked with building and maintaining road
infrastructure in border and remote areas, especially in strategic regions near
international borders.

. BRO has undertaken projects in countries like Bhutan, Myanmar, Afghanistan, and Sri
Lanka, helping build roads, bridges, and infrastructure as part of India’s diplomatic
outreach.

. While BRO did construct the world's highest motorable road, it is not the
Chandigarh-Leh road. The highest road is the Umling La Pass road in Ladakh, which is
at an altitude of 19,024 feet (5,798 meters), constructed by BRO. Chandigarh to Leh is a
high-altitude route, but not the highest motorable road.

4. The BRO was established on 7 May 1960 to ensure the development of infrastructure in
remote border areas.

eflen& & Lh:
6TEVEDIEV FITEMEVGET 3JemLOLIL] (BRO), 6T6UEMEV LOMMILD QFHTemeuST LI LGH Serflev, GmMILILTG FIeauCsha
6TEVEDIEV & EH &G (B SVIETET eLNGETLIMTWL LGS S6rfl6v Fmemev 2 6L LemnloLienl] 2 (Heums:s
Lgmfl&@Lh Leoflenw GLME&STeTHIMSI.
BRO Ly,L_medT, LAWIMEOTLON, SbL18meufl6n&medr nmmilh @ eukiend GLIMeTm BT(H\&6r 160 Freneusser,
LIMeUMBIG6T GUIMETM HL L BIGHemeT QFUISI6TeNg, @& @BBTL(HS QSTLTL&Hm6T U ILGSSRMSI.
2 uGer L& 2 WIFTHS FTeney 2 LnedmI euIT LImeu (Umling La Pass), 6ULT&H& 6L oINS Sl6Teangl. @ 19,024
Q. 2 LITHH 6V 2 6T6TSHI. 3L60TITEV F6uoTlq &T-Cevam FITemev 2 60H6) 2 WIFLDITEITS |6V6V.
BRO 7 G0 1960 3|60TMI 2 (HeUMEHSLILILL ).

48. Which of the following statements are true regarding the location and extent of India?
(i) India is divided into almost two equal halves by the Tropic of Cancer.

(ii) India is the second largest country in the world in area

(iii) The latitudinal and longitudinal extent is nearly thirty degrees.

(iv) The Standard Meridian of India passes through Bhopal.

a) (i) and (iii) only b) (i), (ii) and (iii) only

c) (i), (iii) and (iv) only d) All of the above

@ HH Wmelleir 9jemneflLLb LMMILD LIFLILIeTeY QG TLFUImeT LS6iTeu(hLd Fam migerfley eTemeu &ifluimeoremeu?
(i) @BBWIT gmEHEGmMW @ Fevor(h FLO LIMTHMEISETTS &L&CTensWwmev LNflé Ul @ etengl.

(i) uyLiuerelev @BHWIT 2 6v & 6T @ TevorLmeug Quflw BT

(i) 9ILFCrem& LMMIL GTHECTeans aflifley gm&Gammw (LU 198 1)l 9y GLD.

(iv) @B wmeller GILL CHICIens CUITLIME aulwmg Q&Fa BmaI.

a) (i) LnMmMILD (iii) IO HILD b) (i), (i) LLMoILD (i) LD

@) (i), (iii) LnMILD (iv) DL (KD d) GLOM&H600TL. |60)60TSH SHILD
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Explanation:
True: The Tropic of Cancer (23.5° N) passes almost midway through India
False: India is the seventh-largest country in the world by area, not the second.
True: India's latitudinal extent is approximately 8°4' N to 37°6' N (around 29°), and its
longitudinal extent is approximately 68°7' E to 97°25' E (around 29°).
False: The Standard Meridian of India (82.5° E) passes through Mirzapur in Uttar Pradesh,
not Bhopal.

eflen& & Lh:
2 _eoTenln: HL&BTens (23.5° N) @bHwmellet BGHLLUGS euldlWnms: gmeGHenml QFHRMmSI.
Saum: Urliuerelley @bHWm 2 eu&HeT gomaugs Quiflu B, @ TeoTLmalSl l6V6v.
2 _guoTemLn: @ HH WTaler 9L FCFemd GSMTMWLILDTS 8°4' N (L0S6V 37°6' N auem T (&LOMT 29°), oM MILD
BIG55CIams GHMITUIILNMS 68°7' E 0SH6V 97°25' E euem T (LM 29°) &G LD.
saln: @bHuwmeler S ChICrens (82.5°F) 2 557NTCsF5F 60 2 6TeT WTsFTL T audluing Q&R ma,
GUITUIMeL ULSIUITE 3{6V6V.

49. Which of the following geographical features marks the disputed maritime boundary
between India and Pakistan in the Rann of Kutch region?

a) Sir Creek b) Pangong Tso c) Nathu La Pass d) Doklam Plateau
&L& auemeTGLIT LGS Ullev @HHWIT LoMHMID LITH VST @60 G 2 66T FFFean&Fd Gl &L60
sTLemevenW GMIGH G LjeTuiweL 9JIb&FLD eT&I?

a) FIA5 b) LUMRIGTE 6] ) B! 6VIT G60TAU LI d) GLm&eumd LTl
Explanation:

e Sir Creek is a 96-km tidal estuary in the Rann of Kutch region that forms the disputed
maritime boundary between India and Pakistan. The dispute primarily lies over the
interpretation of the boundary line in the marshy and shifting terrain.

eflem& &1h:

o FU &5 eTeaiTLSI HLF auemen&GLITL LIGHWilev 2 6Tem 96 &).LS [Beme6ieT 6 R&HHH 6] &G0, @Sl
@BSWIT HMID UTHEVSTr @6l Gl FFFamFHGSIL SLAFTT eTeVemaUen 2_(HeUTHEGR M.
F3IU1L] Blevld MHmILD el BlevIUFLILley eTevemevss CHITLI6T SHHTTMI (LNSHWLDTS 2 _6TeTs.

50. In which part of the Himalayan range are the districts of Lahaul and Spiti situated,
known for their rugged terrain and unique cultural landscape?

a) Sikkim Himalayas b) Himachal Himalayas

c) Kashmir Himalayas d) Assam Himalayas

STOWTLTET BleuIUFLiL oM MIlD 60l SI6UIMeT SeVMTEFMTT BleVLILUTLILGES QUWIT QUMM G LmEFeuLl
NG5 &s S 60r UMy LM MILD VLS LoMeUL L KIS 6T @) Lo W ineneuuiler erhs Ll LGS uley SiemLofhSleiTemeor?
a) FEGH D @)LOWILDEm6Y b) @LOTFF6V @LOWILDED6Y

¢) &Maq ST @LOWILDEN 6V d) &J6enenImd @)LOWILNED 6V

Explanation:

The districts of Lahaul and Spiti are an integral part of the state of Himachal Pradesh in India.
Geographically, this region falls within the Greater Himalayas and Trans-Himalayan ranges,
which are characteristic features of the Himachal Himalayas. This area is renowned for its
harsh, rugged terrain, high-altitude desert landscapes, and distinct Buddhist culture, all of
which are defining characteristics of this specific Himalayan section.

eflen& & Lh:

LITaMMeL LOMMILD 6TV DmaIL L MIg6T @hE W mealler @urFFeull NFCHE LoMBlev s S 6T 62(H 62 (H IS 60)600T 55
UGHWTGLW. yelulwey fHwWms, @hs LGS Quiflu @Luwnensy InMHmILD L [JTeTen-@) 0N en6ev s
QSMLISHEHSHGET eUBRMS!, @66l @LMFFe @) LWILnemevuile &60fl5SE6INTeT IDFRISTTSLW. @S LGS
|G 60T SHLQ.60TLOMET, SR (DT LT BlevLILFLIL], 2 WIFLOTET LIMemevalenTd ST F&6T oM mIlD &6t 5 Si6nmest
QLTSS HVMEEFMISHM&ETSH LIGLDELMME!, @ emel emars S @bs GMILILNL L @uwuineneull LGS uller
QUEMTWIMIGEGLD IDFBIGETTGLD.
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51. Which of the following is NOT an important hill resort located in the Lesser Himalayas
?

a) Chhail b) Ranikhet c) Nainital d) Banasura

L9l edreu (B eusoTeUM N6V 6TEH Gl @) L0WILD6m6V (E)LOMEEF6V uTlbL]) LGB Ul6v 2 6mL0MhSI6iTeT 6

(LN &G WILDITEUT L0606V EUTEFEIVS 6D I 6U6V?

a) Fmulev b) pmeool1G&: 5 ) eMIB6oT1& 556V d) LieoTma Iy

Explanation:

e Chhail, Ranikhet, and Nainital are all well-known hill resorts located in the Lesser
Himalayas.

e Banasura, on the other hand, refers to Banasura Sagar Dam in Kerala, which is located in
the Western Ghats, not the Himalayas.

eflems&In:

e MG, TMeol1C&HES LDMMILD eIB6ofl&H S Tev G Wemel Fl @) neneuuiley | eLDHSI6TeT H6TS
SIMIWLILIL L LDEBYEVEUTEF 6N G EVMHIG6T @& LD.

e LIGTM&IIT eTedT LIS C&HIeTmeilel 2 6Tem LIGTMT&TIT FM&T Semetmenllsdh GMl&HMmE, @& @wwineeuuilsy
@ 6VeuITneY CLMEGS QS TLIFH Lnemeuuiley 9iemLnbSI6TeTS.

52. Consider the following statements regarding rivers and their tributaries:

1. The Chenab is a major tributary of the Indus River.

2. The Gomti River is known to be a tributary of the Ganga River.

3. The Indravati River is a significant tributary of the Godavari River.

4. The Subansiri River flows into the Brahmaputra River.

Which of the statements given above are correct?

a) 1 and 2 only b) 1, 2 and 3 only c)1,2,3and 4 d) 2, 3 and 4 only
BHH&6T LnHMID S euMM6dT Zi6m6vT HH&H6IT QASGITLTLIMTS LN6dTeu(HLD oD M1 EMENTE & 61601 MBI & 6lT:

1. AeorLl S FH s HHUNET (NS W 5160600T [5S) WITESLD.

2. GHMG) G &Eiens IHS U6 6016007 H S WITEGSLD.

3. @B rmeu® BS Cammgmeaurfl H&H uller B GSMILILN L5858 8 Siemevor HS) W MG LD.

4. sUeTA ] B NTLLLUSHTT HFH Ul Hevs:EMSI.

GG QEMHGHLILILL gammiserfley 68 36LeugI Temeu FiflWMeTem6U?

a) 1 lnmmILd 2 Ll (HLD b) 1, 2 lnmmiLd 3 0L (HILD 01,2 3 0mmib 4 d) 2, 3 Iommib 4 (LD
Explanation:

¢ Indus River - Chenab (Correct: Chenab is a major tributary of Indus)

e Ganga River - Gomti (Correct: Gomti is a tributary of Ganga)

e Brahmaputra River - Subansiri (Correct: Subansiri is a major tributary of Brahmaputra)
e Godavari River - Indravati (Correct: Indravati is a major tributary of Godavari)

eflem& &1h:

o Bbs BH - Rermll (Flwmergl: Fleorml FH sl @ WEHH W SlemeroT HH))

o SHIMS BF - CHEMNG (Fflwmerg: CHMTNG &Hhiend U6 6T HS)

e UpbwyssHom 65 - suUarAf (Fflwumers: &UarA N LTSS TTeller @@ (W&HSIW Sienemr HH)
o Gomzmalfl B - @BHTTS (Flwnars: QBH TS Caramaurfluler e WHHW e HH)

53. Consider the following statements regarding plantation crops in Tamil Nadu:
1. Tamil Nadu is the second-largest producer of tea in India, after Assam.
2. Coffee cultivation in Tamil Nadu occurs in both Western and Eastern Ghats.
3. Cuddalore district is a major region for rubber plantations in the state.
Which of the statements given above are correct?
a) 1 and 2 only b) 1 and 3 only c) 2 and 3 only d)1,2and3
SUIDBITLIG6 CHMLLL LUNF& 6T &S LN 6iTeu(BHLD FahMIHeM6TE & 6160 W] MHI&6T:
1. @S wmeilev Gxullemev 2 MUISH UL HFTONNHE SO SSUNGWTS SLODBHTH G FevorLmeugl Quiflw
2_MUSS WITETFTELD.
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2. BTG ST FMGULY CLuMEG LMMID KPS GSS QS TLTEFS LDEM6VESHET @) J600TLY. 8VILD
HOLOL MG M.
3. LI LOMeUL LD LOMBlevsH6v TLLIT CHMTLLMBISGEHHES 21 (N&HH W LUGH WTGSLD.
GG ABMHSSLILILL SammserfleL ergi/eremeu &l meTemneu?
a) 1 LMmILD 2 L BID b) 1 LoMMID 3 L (LD ¢) 2 LnmMIb 3 LD d) 1,2 wmmib 3
Explanation:
Statement 1: Correct.Tamil Nadu ranks second in area and production of tea in India next to
Assam.
Statement 2: Correct. Coffee plants are grown in the hills of Western Ghats as well as Eastern
Ghats.
Statement 3: Incorrect. Rubber plantations are significant in Kanyakumari. Cashew is
extensively cultivated in Cuddalore, not rubber.
eflen&d &Lh:
gmm 1: #fl.Csullemev &M@ LI LIFLIL6Te Hmibh 2 muUSH Ul sbLBTH SFTinHES
BG5S UQWITE @S WMy @ TeuoTLITD QL SH60 2 6Tengl.
ol 2: Fifl. 51U QF &6 CLHEGS QFTLIFF DemeV&6T MM HP&HGSGS QFTLIES nemevserfley
QUEITT885 L1 LI (1)) ) 6T M 60T.
Fammi 3: Feuml. FULIT GHMLL KIS SHeterllWMGIluley GMILILNLS&EHmal.&LTle HH
LITeU6VTS &FM@&GLILG QEWWILGRmS!, TULIT 3{6V6v.

54. Consider the following statements about mineral resources in Tamil Nadu:

1. Oil and natural gas reserves are primarily located in the Cauvery basin.

2. Magnesite ores are found near Salem and also in Coimbatore and Vellore districts.

3. Ilmenite and rutile, important titanium minerals, are extracted from the beach sands of

Kanyakumari.

Which of the statements given above are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d)1,2and3

SLO|LDIBITLL.60T &6vflln eUeTmIGET (SMI S & LNTeU(HLD o.M MI& 6068 856U 60111 61 & 6iT:

1. eT6vOT QI 6UOTLL LOMH MILD @ WIMHems eTTfleumuy @)\ (HLIL|& &6T (& eiTemlow mss &mellif]l L[ em & ullev

S| 6MLOTH S 6IT6IT6UT.

2. CLOGEUTENEFL ST &6 CFLSH MG HH LD, CHTemeu LOMMILD CeUsyTI LOMeUL L MmigGerflguh

85 T6uoT L1 LI (H) 63\ 60T M 60T.

3. &S WLDITET 0L L L Teo WD &ITS18 & 6ITITer @)6VLN6m6uTL. oM MILD erhLemL 6V o6 Wemeu & 6orevtlw M@ Lol

SLMH&T oewTevserfley @ (HH S L1568 M &8 L[ ) 60T m 6or.

GG QEMHGHLILILL gammiserfley 678 360Gl Temeu FiflWMeTeneu?

a) 1 lnmmiLd 2 Ll (HLD b) 2 Lnmmith 3 ()LD c) 1 wmmih 3 I @GlLb d) 1,2 lnmmiib 3

Explanation:

e Statement 1: Correct. "Oil and gas are found in the Cauvery basin."

e Statement 2: Correct. "Magnesite ores are available near Salem." And "Magnesite is obtained
in Coimbatore, Dharmapuri, Karur, Namakkal, the Nilgiris, Salem, Tiruchirapalli, Tirunelveli
and Vellore districts."

e Statement 3: Correct. "[lmenite and rutile are found in the sands of Kanyakumari beach."

eflem& &1b:

Fapm 1: &Fifl. "smelfl LM emnasUN6L 6revorQ6vorl LOMMILD eTifleumuy & meoorLiLI (h 6 60T eor."

Tl 2: Fifl. "CHTenFL. HMSHISHSH6T CFVSERH MG BHR L HenL_SHH6eTmerr.” GO "CHTWIDLISSTT,
ST, &emy, Brngs e, heu& i, GFeuld, HmFRFTLILETET, FHOBHLCIN LnMHmILD CGeusTy
wreul L migefléh Gu&erengl QUDLILGSH mS."

ol 3: Fifl. "seres MG HLMH&EMT LD6toTeL & 6160 @) 6VINEm6TL. LDMMILD eHL_6ML6V & evor LiLI(H &) 6dTrmeor.”

55. Which of the following Geographical Indication (GI) tagged products is correctly
matched with its originating district/region in Tamil Nadu?
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a) Puliyankudi Lemon - Dindigul district
b) Panruti Cashew - Villupuram district
c) Samba Vathal - Virudhunagar district
d) Settikulam Small Onion - Salem district
Wetreu@pld eNemT GMIui® (Gl) JBSHTTL QUMM QUITHLS6rl6L 675l SLOLDHITL L0 |G 60T
MeUL L b/UGSS W LeT FRlwmssll QUT@pSSLILL G 6Temgl?
a) Leflwmigly eTevlfl&Fens - Heoor(h&:&60 oML L LD
b) Lesor@pL_1q. (LB ] - ellWLIL LD Wmeul L LD
¢) FLOUT QUGS - Nl(HSIBSHT DML L LD
d) QF L1 &6 FleiTesT QeumIG WD - GF6ULD DML L LD
Explanation:
1.Puliyankudi Lemon - Tenkasi district
2. Panruti Cashew - Cuddalore district
3. Samba Vathal - Virudhunagar district
4. Settikulam Small Onion — Perambalur district
eflen& & Lh:
1. Yeflwhi@ly aaildlFamns - Q&56Tame meall L LD
2. UeorGLIg WBHSHF] - ST meul LLd
3. MUl ags6 - eBSIHST mall LLh
4. QFLIQEGETD F6oTedr QeUmIS MWD - QUIFLDLISYTT DmeuL L LD

56. Match the following
a) National Waterway 1 - 1. Dhubri and Sadiya
b) National Waterway 2 - 2. Kollam and Kottapuram
c) National Waterway 3 - 3. Ganga - Bhagirathi-Hooghly
L9l edTeu (B 6ueTTOUM MM LI QLIMTIHS 515
a) CsFAw Hyeud 1 - 1. Zur] MM FHwWT
b) C5Fw Breuydl 2 - 2. Qs&MeLEUID WMHMID CSHTLLLFLD
) GxAW Bieauyll 3 - 3. HMHs - UTETS)-ayOderl
a) 132 b) 312 c) 213 d) 123
Explanation
National Waterway 1: It extends between Haldia and Allahabad, measures 1620 km and
includes the stretches of the GangaBhagirathi-Hooghly river system.
National Waterway 2: This waterway includes the stretch of the Brahmaputra river between
Dhubri and Sadiya a distance of 891 km.
National Waterway 3: This waterway extends between Kollam and Kottapuram in the state of
Kerala) It is the first national waterway in the country with 24 hour navigation facilities along
its entire stretch of 205 km.
aflemg &L
e CxrHW B 1: @8 aDTELIWIT LOMMILD HEVSTUTE QemL G Beoor(6iTenal, 1620 FILS 2 6Tang! LoHmiLh
SHIGT UTEIH -6l 65 semnliNear B S GHeaeT 2 arerL s W g!.
o  GxpHw Breud 2: @bs Breud silifl nHmib FHwm e Gwiwmest LIFLLUSHTT BH uller BLEFemw
891 SIS SITLD 2 _6TeTL_ SR WIS
e  GxHw Breuy 3: @bs Bieudl CaueT LMHleLEH 6V Q&MELEULD WMMILD GSHMLL LD @enLGW
Bevor(Rl6Tengl. @&l 205 RS BemLn6TeT G60T (LW HemsH avld 24 netofl GBI QSO FNIG S 60 61T H)&Hem6Ts
Q& MevoTL [BITL_ G607 (&L CHHFW BieuAlwm@GLb.

57. The third stage of the Indian Nuclear Power Programme primarily aims to utilize which
of the following as the 'fuel of the future'?
a) Radium b) Polonium ¢) Thorium d) Actinium
AHB W 2 s0IFES) GG S 60T CLNETMITD SLLLD, TS TH TV T FlIQUITIHETTS (NS 6TemInW TS L
L9) 63T 61 (IH 61 60T6U (D) MI 61T 6TSHEM6UT LI LIWLGTL RS S ©) 6V 8 (S 606U S SI6T6mTgI?
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a) GiquwiLD b) GUITGeumenflwilh o Camiflwib d) &&1q6oflwiib
Explanation:
The third stage of India’s Nuclear Power Programme, as envisioned by Dr. Homi Bhabha,
focuses on using Thorium-232 as the main fuel.
India has limited uranium but abundant thorium reserves, especially in states like Kerala.
Thorium itself is not fissile, but it can be converted into U-233, a fissile material, through
irradiation in a reactor.
The third stage involves breeder reactors and Advanced Heavy Water Reactors (AHWR) to
efficiently use thorium.
Hence, Thorium is called the "fuel of the future"' for India’s long-term nuclear energy
strategy.
eflens &0
@HH WMeleor epeTMTID &L L e MMV G L b, C5mHlwid (Thorium) TSI MeL THlQLIMTIHETTS
LWweTUMh S S alensd CBTEHEINMHS Gl& Moo (H6TETSI.
@BH WMe|&HES Wereflib Genmeumseald, G Wb H & Sjemellsyilb 2 6T6TSH — GMILILTS C& 6T
THIVSHE AFHHINMSE 2 6T,
Gl GBIQUIMSL LIW6olevemey, L6060 3i&ement U-233 eTeniln Lilemell&sd QUITIBETTS Lmmm
LG Uib.
@bS &S5 6, breeder reactor InHMILD 2. WTST Seorduilenev BT eperfl&FQ&flens @) b i g6
(AHWRs) LIWeTUMOSSLILI(BILD.
eteoTGau, G5milwib @BH W meller "eT& T&mev eTQLITBHET" 6T60T M HSHELILGH M.

58. Consider the following statements about a specific type of forest found in the Western

Ghats:

1. These forests are typically found in sheltered valleys at altitudes above 1000 meters.

2. The trees in these forests are predominantly evergreen and are generally short in

stature.

3. Nilgiri champa, wights litsea, and rose apple are common tree species found in these

ecosystems.

Based on the characteristics described above, which of the following best identifies this

forest type?

a) Tropical Evergreen Forests b) Montane Temperate Forests

c) Tropical Deciduous Forests d) Shola Forests

CLMGS OSTLIFF wenevulleL SmeooTLILIGID @@ GMILIELL suens &TH&6T & & e LNedTeuHLD

oD M1 56016118 & 6L 6071 L MBI &5 6T:

1. Q&6 SMH 6T QLITSHIeUTS 1000 LS L (58D SIS SGL0Mer 2 WIS 6V 2 6TeT LIMTSISTHS LI L

LIGITETE & T8 (5 & 61160 & TeoT L LI () €3 60T M 60T.

2. Qb5 HTDH &6 2 616l LOJKI&6T GILBLOLIMTEILD LIS 600 W ITETened LM MID QLUITSI6UTS S

(S L60LWITEOTem6L.

3. B @l Fbum, a8 L6V SILA WM LM MID G LI 6T LT Weneu @\hS & @LO6V | emlnLiLgerflev

&Tevor LILI(BILD QILITSI6UITEOT LOIT () 60T I & 6iT.

GLoM & 6voT L LIcvor L S erfletr 919 LiLiemLuflev, L9 6Teu (HeuetTeuM MI6T 678 @\ HH& ST U eamLE F\mbHS

wenmuileh SjemLWTETD STLHSBMSI?

a) QeULILILNGDOTL_6V LIGemODMMIT ST &H6T b) LNSQeULILI LDED6V STHISHET

¢) QaILILILNEDITL 6V @) 6meVW|HT & M(H 86T d) GFmemev &M(H&6T

Explanation:

e '"Sholas" refer to these forests found in the sheltered valleys of Anaimalai, Nilgiris, and Palani
hills, with evergreen and short trees, and mentioning specific species like Nilgiri champa)
This description perfectly matches the characteristics of Shola forests. While they are a type

of evergreen forest, "Shola Forests" is the most precise identification given the details.
eflemg &Lh:
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Lemetlnemey, B ISl InHMILD LiLpeot] InemevsserfledT LIMSIsGMELILIL L LIGTeTS S TEH G 86160 et UL
@b HTH&HET "CaFMTenaV&H6T" eTedTml GMILILNL LGSR MG GLosild, LIS+emLOWITE0T DM MILD &L 60)L_LLIT6oT
LI TBIGET, Beu&fl Flum GumeTm GMILILIL L @erhigGamerd GMILILHeug GaFmeanev &m(H erfleor
LI600TL| & @B L60T FIFIWMSL QUTHBHSIRMS). (606U (H 66N LIGeIWMMT SMTHI&G6ETTS @) (HHSTaLD,
Q&ETMH&&LILLL afleugmhigerlerLil "CaFmemey &MH&6T" 6TeiTLIG! W& 6| FHevedlulnmeor 6960 L WIMELD.

59. Which of the following statements accurately describes the impact of the Southwest
Monsoon on Tamil Nadu?

a) Tamil Nadu receives heavy rainfall from the Arabian Sea branch of the Southwest Monsoon.
b) The amount of rainfall during this monsoon season increases from west to east across Tamil
Nadu.

c) Tamil Nadu is situated in the rain shadow region relative to the winds blowing from the
Arabian Sea during this period.

d) Kanyakumari, Tirunelveli, and The Nilgiris typically record very scanty rainfall during the
Southwest Monsoon.

L etTeu(BLD Sam migerfleL T8 618 60T GLO MG LI LIIH6ULD6MLPITEV SLSILDBHITL L6V HLIGILD 696m6Tey & emers
Ffluns afleufl&HRmaI1?

a) QFHETCLMGL LihaunempuileT TLlsasL6 Heaneruledmnhs SUIPBTEH S & WwenpIQUMSeanaill
QUMIBRMSI.

b) @& LI LIHeUlnemLp &HTeuESH 60 SLLDBTL 196V enpuile oi6ma] GIMEG (PG RPEG alenT AH&HER M.
0) @Qb%& HMTVEH ATLIGHELS 0 @BHg efsb &THMnG SWLBTH W Wweanme|ll LNFCsF55 6v
SMIDHSIGTETS.

d) QeTCLMEG LI Lifhaulnenpuiesr GLIME &eteorlwmGLoif], HHEBeuCaued nmmild Bev & fl o5 Wwiemnel
Quralans W&s Genmalrer e IaUMSlanalll L 6| Q& 15 eormeor.

Explanation:

Tamil Nadu receives limited rainfall during the Southwest Monsoon (June-September) as it lies
in the rain shadow region of the Western Ghats, which block moisture-laden Arabian Sea winds.
Most rainfall occurs in western areas like The Nilgiris, while eastern parts get less. The Northeast
Monsoon is more significant for Tamil Nadu’s rainfall.

eflem& s 10:

Q&6TCLMEG LIHeUnenpuiledr GLIMS (Z@eT-Q&LIL DL SEPBTH GenmelTerT nempenll QUMISMSI,
gQereflev @& CLMEG QSTLIFH nemeu&erfle Wenlp Weanmell LUGHUille 2 6Tengl, @& 37L& a e e6r
FILILUSLMET &THMIsGmeTsS SHh &R M. Heu@Rfl GUMeTm GMEG LGS &6flev GILIHLOLITEVITET DemLD GQLIUIU|LD,
SLEUTITEL HP &G LGS &H6T GHenmalTasll QLUMID. all_Hp& @ LhHallnemip SLOLPHITL 16T LDemnLNE &

(PSRN TETSI.

60. Which of the following is a primary benefit of Regulated Markets for farmers in Tamil
Nadu?

a) They guarantee direct payment to farmers by the Market Committees.

b) They act as a forum for farmers and traders to market produce without middlemen.

c) They charge a small service fee from farmers for market facilities.

d) They allow traders to fix prices based on market demand without government interference.
SOIDBITLI960 afleusFmuilBEEsE @RUWRIGUMSSLILLL &Fhehs s 6rfl6ir (N5 eTenLoL LI eorgserley

L9) 65T 611 (IH 6L 60T 6L (D) M 6T 6TZH51?

a) I mal FHMGHEH GWESETTL allauFTuUlsEHs5E GBI LIGTD QFNSEISNES 255 T6aTH0

3 6rfl & & 6T 6oT.

b) Siem6 @60 5STHTH6T G eveuTnsy ellauFmulGeT IMHMID UFSHSSHTH6T 66en6TE LIMIHL & 6m 6T
FHemSLILGOSS (H LDETMLNTES C&F U6V LI(H G 60TM6oT.

0) 9Mal FHeMG UFHHEHEETSH alleugmuilsef L LdlpBhg e FMl Caenel &L LewTld @698 5 60T M 6uT.
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d) ATF 6T HemeuuTgetTy)l Heol WM UTSHS&HFTHET FHennd CHenelenl QLMHSHS! ellenevuemn BlFevorui& s

SIDNG SR DS

Explanation:

e Regulated Markets are established for better regulation of buying and selling of

agricultural produce.
In Tamil Nadu 278 Regulated Markets are functioning under 23 Market Committees to
enforce the provisions of Tamil Nadu Agricultural Produce Marketing (Regulation) Act
1987, Rules 1991 and to ensure fair prices to farmers, to reduce marketing charges, for
the protection of farmers from the hands of traders and for the provision of better
marketing facilities, basic infrastructure etc.,
Each market Committee has its own notified area for the purchase and sale of notified
agricultural produce.
Regulated Markets act as a common forum to farmers and traders on equal footing for
marketing of agricultural produce without middlemen. No fee is collected from farmers for
the services rendered. One percent of the sale value of the produce is collected as market
fee from Traders. Besides, license fee is also collected from traders and weighmen.

eflem& &1h:

o  RUBIGLNNM eMLICH 60TE Fa L BIGHET GeUETT6r0r 6l eTGLIMIHL_S6m6T eUMHIGalensUh ellDLemnS U0

FALILTS @UWBIGLHSSIUSNHEHTS BlmiauLliLL (H6TeTeor.
SLALDBITL 960, HLALDBITH Coauermesor ellemeTQUTIHET FHeNSLILIRSSHH6V (RWHIGLMB SSISH) FLL LD
1987 Mo G &6t 1991 R weum e ellF Hener 3ineVLIMB S S 0D, elleudF mullgEnHa: @ B W Tl LD meor
aflemev BemLLILens 2 mIF QFUWILeD, FHansLILIHSSID &L L 600T 65606 &enMeHEH6]L0,
alwrmurflseafL BB eleugmuilseanerl LMSI&T&HESH|D, Anbhs FHensLiILG &SI IFH &aT,
SJIQ LIl 2 6TaHLLeninllL] GLITETMaIMenm aILPMBIGHE|D 23 FhHend s & (Lo o erfler GLp 278
R(MEIG LN M 1M LIGH 60TE Fa L RIS 6T Q& W6ULIL. (B 61(HE 60TM 6.
RIQAUT(IH FHenS s GWalMHGLD, SMleN&GasLILL L CaleTmesr 6lemeTQ LITIHL.&HeM6T 6)ITHIG6US M G0
AlMHUSHGLD HET Q&FTHS AMNGEHLILLL LGS 2 6Tengl. nkIE&wenm 65l L165)60T8: Fn L HBI&H 6T
@M S HTHFTH6T @6vevTLey ellausF Tl elemeTQ UL &Hemem eflMLiemer QFuIw elleugmuigseT nmmin
QUeIDl BI85 EH5 G FLODMET 31 L1LemL U6 (H QLITSIEUTET &eTLnmds 6& U6V LI (H G 6T m 6.
aasmTuieeErsE aupmIsLILIGLIDL CFamealsEheHSE 61HS &L L emr(nLd 6@ 6985816 6UTH 6Vem6v.
aflpuener QEFLIWLILLL ellemer@umBerfler aflmLiement (DG 1LN60 (b FHTHID FlHenIGE &L L 60oTIOMS
auenll BTSN BHS eu@&eNGHSELILGOSRMS. @5 ST, 6uetoll&IgeT LMHmILD eTemL
SerliueauiseflLlGpha 2 fling &L Lenrid 6U@e&as LGSR mS!

61. Match the following districts of Tamil Nadu with the prominent hills located within
them:
List I (District) List II (Prominent Hills)
a) Dindigul 1. Kolli Hills
b) Namakkal 2. Javadhu Hills
c) Vellore 3. Pazhani malai
d) Salem 4. Servarayan Hills
etreu(pLb SLALDBITH LOMeUL L MBS M6, SjeuMnlev SjemLlohg (L0 & S WILDITEUT L0 6M6V & EHL 60T GILIT(H S S185:
UL 1qwev | (LomeuLL LD) UL Igwev 1 (&S W LD6em6V&s6iT)
a) BT & ZH6L 1. @& m6LEY em6V
b) MO & &6V 2. 26UGTSI L0V
<) Geuguriy 3. ULpent] LDem6u
d) GFeuld 4. GEFIJ6UITITUIET LD6MI6V
a) (a)-3, (b)-1, (¢)-2, (d)-4 b) (a)-1, (b)-3, (¢)-2, (d)-4
c) (a)-3, (b)-2, (¢)-1, (d)-4 d) (a)-4, (b)-1, (¢)-2, (d)-3

62. Among the following atmospheric pollutants, which one(s) are the primary

contributors to the formation of acid rain?

1. Carbon monoxide 2. Nitrogen oxides 3. Ozone 4. Sulphur dioxide
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Select the correct answer using the code given below:

a) 1, 2 and 3 only b) 2 and 4 only c) 4 only d) 1, 3 and 4 only
etreu(pLh euerflineuoTL v LDME&HELIG S H &e6rflev, SiLdl6v LnemLpemL 2 (1H6U TS G 6US MG (DS 6E0TenLnd
&ITIT6U0TLOTEUTEMEU 6TSI/6T6m6U?

1. &MTILGT CLMETTHEMEDH 2. MBHLTR6T JUSMFHSH6T 3. @CF 60T 4. FeLLIT 0L 385 m&F ()
SC QsMHHsUULR 6T GMuiienL L LweTu® S sFrlwmer LG eanavs C5THASH & &6y Lh:

a) 1,2 Lommith 3 (LD b) 2 LnMMILD 4 DL ()LD ) 4 L (b d) 1,3 lnmmid 4 oL_(hILh
Explanation:

Acid rain is primarily caused by the emission of sulphur dioxide (SO;) and nitrogen oxides
(NO,), which react with water vapor, oxygen, and other chemicals in the atmosphere to form
sulfuric acid and nitric acid, respectively. These acids lower the pH of rainwater, causing acid
rain. Carbon monoxide (CO) is a toxic gas but does not significantly contribute to acid rain as it
does not form acidic compounds. Ozone (0Oz), while a pollutant, primarily affects air quality and
is not a direct precursor to acid rain.

eflen& & Lh:

3Jflev LDEMLD (LNSETEMLOUWITE FVS LT 60 & 6em&F [ (SO,) DMHMID 6MIBLIF60T I185emFDH &6T (NOy)

G weaimnler 2 flthaime gHLGEMS). @eneu alerlneoLegHev Hrmel, aL&elger Inmmib L9m

@ TFTWeTHISGEEL6T aflemeT b HHHH bleun MmN enBL e blevsd s 2 (HeUTE @S 6T meoT. @) bHS
3Jfleuhi G 6T nemLpiBIfletT pH 2l6Temeals GemES! L6V DEMLPEMLL 2_([H6UTE & 5 60TM 60T, & ITITLI60T
CLrmearmaen& @[ (CO) s(h HEFS aUTUOIMGLD, 3L60TMeL @S 6V MP&HESG GO G558 LinkiserlLL
QEWIWTEI, gQametley @& L6V HEVEn6UGHEMET 2 (HeUMEH&MS. @G&FMer (03) R(H LMHLGSH WITS

@GBS T, (NSETENLWTS STHMET HISHmE UTHER MG LMHmiD ey Lnenps & CHILY. (LD 60TCEITTIY WIS
B)6LED6V.

63. Consider the following statements regarding the "Green Tamil Nadu Movement

1. The primary objective of this movement is to increase the area under forest and trees
to 33% of the total land area of Tamil Nadu.

2. As per the India State of Forest Report 2023, the forest cover in Tamil Nadu constitutes
20.34% of the state's total geographical area)

3. The movement has established 75 tree parks across all districts for public use.

Which of the statements given above are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d)1,2and3
"UGenn SADBHTEH @UESHWL" GSMISH S LNOTUIHLD Fao.M MG 606 & 6L 6011 I & 6iT:

1. LD BITLIG6T QLTSS BlevLTLLN6L 33% 948 STH LMHMIWD WFhGefler LFLLeTanel 2 WIS Sieus)
OhS QW& SHSH 6T (NG 6iTemln CHTEH SN MEGLD.

2. @S W nrmlevmiserledr eueT & ena 2023-60T LILG, SLALDHITL 6T QLTSS Lalludwey urliueralléy
UETLILIGS) 20.34% 94(51D.

3. QUIGI D& G er6T LIWeTUML LY M&TSH 9 emeirs Sl Inmeul L migeflgulh 75 JLl LLBI&STSS&6T @\h
QWESHSSTeV 2 (IH6eUME & LILIL (B 6TemeuT.

GG QEHMHGHLILILL gammiserfley 68 3|6LeugI Temeu FiflWmeTemneu?

a) 1 LmmILd 2 L (HILD b) 2 LMMID 3 L (LD c) 1 wmmib 3 LG d) 1,2 ommib 3
Explanation:

The Green Tamil Nadu Mission aims to increase Tamil Nadu'’s forest and tree cover to 33% of its
total geographical area (1,30,060 sq.km), requiring the planting of approximately 35 crore
saplings over 10 years. According to the India State of Forest Report (ISFR) 2023, Tamil Nadu’s
forest cover is 26,450.22 sq.km, which constitutes 20.34% of the state’s geographical area.
efleng & Lh:

Lgenn SLALBTG @UWEHEHSH 6T (In&eTemnin GBMEHsW SLAPBHTL Q6T Qrss Lelluflwey urliuerelev (1,30,060
FaIT B.15) 33% UGHemW &THI&HET DMHMILD LOFHkI&6TleT G Q&M alBaSTEGWD, @FME 10 2,600m(h & 6rl6v
SLOMY 35 &MY BTMHMISET BLe QaFWIwLiLL Causor(hbD. @BHIW &HT(H &6l er Bleney Hmlgenss (ISFR) 2023 LG,
SLOLDBITL19.65T SMTH&6T 26,450.22 51T .S LIFLILI6TE Q&TeorLemel, @ &I InMBlevsS 6T Qmgs Ljedludluwisy
Lgliterelev 20.34% 9@ LD
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64. Find the incorrect pair
1. Green Tamil Nadu Mission - GTM
2. Tamil Nadu Water Conservation Mission - TNWM
3. Tamil Nadu Climate Change Mission -TNCCM
4. Tamil Nadu Coastal Renovation Mission- TN-SHORE
a) 1 pair only b) 2 pair only c) 3 pair only d) all the above
QEMH&S&LILLL @) emeuorsserleu &6UMmITeT @) 6060078 6068 & 600TL N6 LD:
1.useno SAPHTEH W& — GTM
2.5010HBME BT UMTSISTUL @Ww&ssh - TNWM
3.5 HBM{H &TeuElenev LTMHM @W &SI - TNCCM
4.5101hBITE SHLCMT GLWLUMLH @)W sL1D - TN-SHORE
a) 1 @emevor LOL_(HILD b) 2 @emevor LOL_(HILD ¢) 3 @emevor LOL_(H)LD d) LM &H600TL. | 6DI60TSH SILD
Explanation:
e Tamil Nadu wetland Mission — TNWM
e Tamil Nadu Coastal Restoration Mission- TN-SHORE
eflemg & 10:
e  SIOPBTH FIBlVEIGET HIL LD - TNWM
e SIPBTH &G LMETanLoliL| Guig s - TN-SHORE

65. Which among the following cities don’t have a Metro rail network in India?

1. Ludhiana 2. Gurgaon 3. Kolkata 4. Jaipur

a) 1 only b) 2 and 3 only c) 4 only d) None of the above

@ BB Wmellev QLLETT FulleL QBLATTS ) V6VITS H8JMHIGET 6Tem6u?

1. TG Wimeor 2. BT 3. OBMTLESSHT 4. Qgauilwy

a) 1 LB b) 2 LnMMILD 3 DL (HILD c) 4 DL (ID d) G aanlweummley ergie]dleveney

Explanation:

e There are 8 cities with metro rail connectivity in India) They are Kolkata (West Bengal),
Chennai (Tamil Nadu), Delhi, Bengaluru (Karnataka), Gurgaon (Haryana), Mumbai
(Maharashtra), Jaipur (Rajasthan) and Kochi (Kerala). The metro in Kolkata is the first one in
India) It is also called as Mass Rapid Transit System (MRTS). As of September 2018, India
has 507 km of operational metro lines and 381 stations.

eflerm& & 1h:

o @BHwmeley QL CHT Fuiley @eneuoriiL| 8 H&HIMHIG6T6U 2 6TaTer. Sl QHBTLSHSST (CLNME aUMIGLD),
QFatTemert (SLALBMTH), QL6V6Y, QLIMISGeEH® (HTBTLST), &T8Ter (@miflulmerT), (PLhemL
(IDSTITEQLQTIT), QQUILILLT (MRG0T nMmILD Q&TFR (B&I6TT). Q&MUESSTaIl6 2 6Tem QL GIT
@QBH W6V (NG eTemWIMeTSl. @& Wmev CrUL 1qpmeT&AL FleruLLb (MRTS) eTedTmiLd
SMPESILGH MG QFLILLDUT 2018 BleveurLiLilg, @b Huwmelev 507 .S Hem Qaweuml G QLG
LITeN & &6T LnMHmILD 381 BleneulL BIS 6T 2_aiTermeot.

66. Regarding the Coastal Regulation Zone (CRZ) Notification, 2011, consider the following
statements:

1. CRZ-II areas are categorized as 'Developed areas'.

2. CRZ-III zones are designated for 'Rural areas'.

3. CRZ-V represents 'Water areas including territorial waters'.

Which of the statements given above are correct?

a) 1 and 2 only b) 1 and 3 only c) 2 and 3 only d)1,2and 3
&L C6UITIT 6(LOMIG (N6mM LO6uITL6VLD (CRZ) oinfledlLiLy, 2011, GG I LSl6tTeU(HLD FaM MG M6

55611601 WL 161 & 61T:

1. CRZ-Il UGB S6T 'QUTTFR WML HS LIGS &6 6T6dT 6U6h & LILIH &S LILIL (B 6iTemeor.

2. CRZ-1l1 LD6DOT L 6UMEIG 6T '@ T MTLILML UGS & E5E8 58T 6818 8 L1LIL (H6TerTeor.
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3. CRZ-V'pmhHw Heoy 2 arenLe&ESH W BT LGB &6t GM&ESH M.

GG AEBMHSHLILLL SammserfleL 6T 960eVSI Temed &l TeTemeu?

a) 1 LMmILD 2 L (BID b) 1 LoMMID 3 L (LD ¢) 2 nmMI 3 LD d) 1,2 ommild 3

Explanation:

e CRZ-IV (Water area which includes the water areas up to 12 Nautical miles (Nm) of the
territorial waters and the tide influenced water bodies). CRZ-V is for "Areas requiring special
consideration protecting the critical coastal environment".

eflen& & Lh:

e CRZ-IV(pmmHw Bifler 12 &1L60 emineusaT (Nm) auemguilevmest B LIGH semem 2 aTemL&SHW BT LIGS). CRZ-
VeareTUg GMILILNL L &LGMT &MHMIFELpen6eul] LUMSISTLILGSMHETeT FIMmLUIL &Helerd GHemalli({IWn
LUGH ST 9,GLD.

67. Consider the following statements regarding the "Tamil Nadu Climate Change
Mission":

1. The mission was launched with an allocation of 3500 crore to be spent over five years,
focusing on climate change adaptation and mitigation.

2. Tamil Nadu is the first state in India to develop such a comprehensive plan for climate
change.

3. The mission aims to enhance integrated responses, including emission reduction, forest
consolidation, and sustainable infrastructure.

Which of the statements given above are correct?

a) 1 and 2 only b) 2 and 3 only c) 1 and 3 only d)1,2and3
"SLELDBTEH &TeVBlemnsv IDMMHM GWESD" GM &SI LN6tTeU (HLD T M)IS56M6ITS & 616011 Mg 6iT:

1. &MTeVBlemev LOMMHM H&H6eUeVeMINLIL] LDMMILD F6uullLIL] L6185 6m& & 6rfl6L SHeU6ITID QFNIS S, B1HS!
2,600T(H) & @58 & T500 C&ITLY RSIGGEL196V @) HS @WEHSID QS TLMBISLLIL LS.

2. SBITUBlem6V LMMMLD QS TLFLITeT @ &HHems W ellifleurer S L&eng 2 (H6eums S w @) S wmeller (g e6u
wrElevld SLELBHTH LG LD.

3.0\h% QW&SLD 2 1Ehe] GemmLIL], 6U60T 6 (h M!S emevorLiL] LOMMILD Hl6MEVLLITET 2 6T L LemLoLIL]

2 eiTerfl_L e(pHEITHenenrThd LIS ev&HeneT CLIDLIG S SIeUens CHTHEINMSHS C1& TeuorH 6TeTgl.

GG QEMHGHLILILL gammiserfley 68 3|6LeugI Temeu FiflWMeTeneu?

a) 1 lnmmiLd 2 (LD b) 2 LnMmMILD 3 DL ()LD o) 1 wmmin 3 1@l d) 1,2 lommib 3
Explanation:

The Tamil Nadu Climate Change Mission (TNCCM) has collaborated with Anna University's
Centre for Climate Change and Disaster Management to establish 'Climate Studio.' This studio
will serve as a centralized hub for all climate-related data and activities within the state.
objective of the Green Tamil Nadu Mission is to expand the state's green cover from its current
23.71% to 33%.

eflen& & Lh:

SUILLBTH &MeVHlem6y MMM @)U &L (TNCCM), S|600T600TIT LIV 860608 80856 H) 60T &HITeUHlemev LDMMHMLD LM MILD
GUIFILT GLD6VITEOTEmLD 6MLOWIG SIL_ 60T @) 6meuoT S 'GBlememGLoL. srv(HIgGuim' (Climate Studio) eTedTm emLoLlemL

2 (HAUTER W 6TENSI. IDMTBleVE T 60T METTH S STEVHIENE QGTLITLITEN $I6| LDMMID HLAI)&HMEHEHEHGD @3
@@ LWLILGSSIULL sFayll LeTtaflumsgd Qaweu(@lLd. LUgsHamning SLALDBITH @) U& 655 6T e (N&HSHIW
&MI&ECSHTET, IDMHlVSH 6T Ligemnll LFlienl SHEUTSEI6TeT 23.71 5567565560 BH gl 33 Fa5ais510M5H
IHsFLILSTGSLD.

68. Choose the incorrect statement (based on 2011 census)

a) High Literate District — Kanya Kumari b) Highly populated state — Kancheepuram
c) Largest district (in km? ) — Villupuram d) High sex ratio — Tirupur

SUMTET FaMenME CHTHASHH & HLD: (2011 LDSHHET QFTNS &600T8 6 & B LILN6oTLIL.)

a) 5 & sevalllinle] QUMM WML L LD - SeTeoflLMGLorf]
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b) I & IDGSHET QSMTENS QS MeoorL LOMeUL L LD - &TEhF L [JLD
o) Wasuauflw wmal L b (8§).15?% @ev) - el FLd
d) @18 & umedler RS0 - HBLILLT
Explanation:
e Highest sex ratio: Nilgiris
o BBl nmeul b SIAPBITLIG6L 08 2 wWihs Lmeder iR &5en5 8 C\&mTeor(h 6Tens.

69. Identify the correct pairs

Rivers Origin
a)Cauvery - 1. Brahmagiri Hills

b)Then pennaiyar - 2. Nandhi Durga Hills
c)Vaigai - 3. Varushanadu Hills
d)Thamiraparani - 4. Pothigai Hills
a) [ & II only b) II, IV only c)LII, IIT only d) All the above
FiflWIT6DT @) 6016007 6016IT | 60ILWITETLD &ITEUOTY LD
55\ & erfl 601 GxmMMmLD
a) smelrfl - 1. 9 ybw&a P eneuser
b) Q56T LIGTOTEMEUTIWIITIT - 2. HHS) SITSHIT 106DV S 6T
) MEUM S - 3. umagBT®H LLEMEVEET
d) sy yevor] - 4. QUITH MG LDEM6VE6IT

a) l &Il DL (LD b) Il, IV loL_(p\LD o) LI, 1 (b d)GLDG6V 2_6ITET (6060TS Sl LD

70. Identify the incorrect statement Brahmaputra Plains

a) Brahmaputra Plains is located mainly in the state of Assam.

b) It is a low - level plain located in the eastern part of the Great Plains of India

c¢) It covers an area of about 56,275 sq.km.

d) After it joins with the river Ganga in Bangladesh, the river is called as Jamuna

KobwuysSrm Funeelef QSTLTLITET $6aUMTET Saenm 0L LITETLD &IT6uoTeLh

a) NrwysSH T Fnaelef] (DEHWINTE FTD IDTHBleVSH60 D HSI6TenS!.

b) @& @bHwmeller Quiflw Funaelafluller Hp& L LGS U6 emDHSIGTET 6(h &TLDEITET &N a6 WmE@Ld

¢) @& &LoM 56,275 517 &).LS LIFLiLeTemneld Q85mevor(h eTens.

d) UBIGTETCHEFS T SHHIens BHH LT G emenTbS LIM&G, @HS S 3(LN60TIT 6T60TMI HeMDESLILGH MES!.

Explanation:

e Brahmaputra, After it joins with the river Ganga in Bangladesh, the river is called as Megna.

e UgbwyssHom B, UniseTTCHadley Hhiend BH WL 6T @emnetThd L1ME, GLO&EuTIT 6T6iTm
SMP&ESILGRMmSI

71. Choose the Correct Statement
1. NorthSouth corridor aims at connecting Srinagar in Jammu and Kashmir with
Kaniyakumari in Tamil Nadu
2. East-West corridor has been planned to connect Imphal in Assam with the port town of
Porbandar in Gujarat
a) 1 only b) 2 only c) Both 1,2 d) Neither 1 nor 2
Frflumer sahenms C&THASH &&e LD
1. aULEG 5MEG auPlSSL LD QDL HTaqLSflev 2 616 Wfh&sen &LSLDIBITLLq.60T & 60T60f 1L MG Lol L6oT
@ eneTLLIeNS CHMTHEINMSGS Q& Teuor(H 6TeTs!
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2. BP&G-CLMEG auhlSSL LD FTLOI6L 2_6T6m @LOLITEM6V G TS H 6V 2 6iTem GLIITIT LI & (HL60T
@ 6m6tTE & B L LSIL LILIL (B 6o
a) 1 LG b) 2 L (D ) 1,2 @revor(hlLd d) 1,2 @revor(hLD {606V
Explanation
North-South and East-West Corridors:
NorthSouth corridor aims at connecting Srinagar in Jammu and Kashmir with Kaniyakumari
in Tamil Nadu (including Kochi-Salem Spur) with 4,076km long road.
The East-West corridor has been planned to connect Silchar in Assam with the port town of
Porbandar in Gujarat with 3,640km of road length.
The two corridors intersect at Jhansi.
N Y: Ih)
QAILEG-Q5MEG IDMHMILD FLPHG-CM & eSS L BIGET:
QLGS QMG allflss L b LW &Teqlirleu 2 6Ter Wihgkem T SLLDHBITL 19607 & 60T60TWITE LML 6o
(Q&BTER-GFeuld LT 2 L LIL) 4,076 &.LS BT Fmeneul]L 6T @) enemorLiLIeng GHT&HHLINMEE 618 Teoor(H 6Tengl.
FPEHG-CLMG PGS D AF T 2 6Tem FlLFTmT WD GRITESH 2 6Ter CUMTTUBS 60T SlemmLnss
BSHISHSIL6T 3,640 &).15 Hem Fmemeul L 6T @ emetordsss UL AL LILLC (HeTerg.
@ e UG5 L _mIsGEHID LMarFAulley FHH&HER M.

72. Match List I (Port Name) with List II (State) and select the correct answer using the
codes given below the lists:

List I (Port Name) List II (State)
a) Deendayal Port 1. Kerala
b) Jawaharlal Nehru Port Trust 2. Odisha
c) Paradip Port 3. Gujarat
d) Kochi Port 4. Maharashtra
UL IgWwev | (Slemmps QUWIT) &3 LILIg W6 Il (L0MFBlevld) 2 L 6T QUITIHSS), LI L9608 E5 8 S BCLp
Qe ssLULGerer UG semeTl LweaTL®G S S sflwmer LS eamevs G5 HG S M &&a]Lh:

UL 1guWeL | (S16mmn& GILIWIY) UL 1qwev Il (LomBleuln)

a) §60r5 WIMET Flemm (L&D 1. G e
b) LeuamTeLTeL CIH(H SIMM (NG MG L L 606T 2. RUQEMT
o) UMFSLI S1EOMIPSLD 3. 575
d) Q&TER slemmnsLD 4. OETFTOQLYTIT
a) a-3, b-4, c-2, d-1 b) a-1, b-2, c-4, d-1 c) a-4, b-4, c-3, d-1 d) a-2, b-3, c-4, d-1

73. Consider the following statements regarding the Cauvery River Basin:

1. The Cauvery River originates from the Brahmagiri range in Karnataka)

2. The Bhavani, Noyal, and Amaravati are important left bank tributaries of the Cauvery
River.

3. Bandipur National Park is one of the protected areas located within this basin.

Which of the statements given above is/are correct?

a) 1 and 2 only b) 1 and 3 only c) 2 and 3 only d)1,2and3
smellfl FH LU LGS SN LN6tTeu(HLD Fa.MhMISHEN6ITE & 6U 601 L MG 6T:

1. smellfl 58 &THILETeN6L 2 6Term LANTOLS ] Lemevulicv CHMETMIRMSI.

2. Leurment], QBTULIWE LMHMILD SOFTTUE S Hweneu &mellnfl ouMnledr (LN&HSWLDITET @)L S &0 Sl60)600T
& &6iT 1,GLD.

3. UBBILILLT CHFW LLEIST @HSL LI[H 086 | 60nhSI6TeT LIMSISTSsLIULL LG HSe6rflev
Q6T LD.

GG QEHMRGH&LILILL Gammiserlev ergl/eremeu &l meuTemneu?

a) 1 MM 2 L (HILD b) 1 oMmmib 3 LG €) 2 oMmMID 3 DL (LD d) 1,2 lommib 3
Explanation:
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The Cauvery River originates at Talakaveri in the Brahmagiri hills of the Western Ghats,
located in Kodagu (Coorg) district, Karnataka.
These rivers—Bhavani, Noyil, and Amaravati—join the Cauvery from the left (north) bank,
mostly flowing from the Western Ghats in Tamil Nadu.
Bandipur National Park, located in Karnataka, lies in the upper catchment area of the
Cauvery River Basin, making it part of the basin's protected ecology.

eflen& & Lh:
smallifl S SIBTLS LDMTHlEVD LG LML LSS 6, HevsETGallf] eTsvild @)L 5FH 60 2 6Tem LiFamwns il
LMV 6rfleL CHTOTMIH M.
@ el O5MNEGS CLUMEGSH ASTLIFF aneusafledBHal albs sTelifléE @ L&l &anyullev &6v5 5 6Tmeor.
LUBHLILT CHFIW LLBI&T, STHTLETeN6 2 6Tengl. @3 srallifl aymmiler GueuBleneull LIE H & erflev
SIEMLDBSIGTETSI.

74. Consider the following statements regarding major tribes in India and their primary

locations:

1. The Bhils are predominantly found in Gujarat.

2. The Bodos are primarily located in Assam.

3. The Gonds are largely concentrated in Jharkhand.

4. The Mundas are mainly found in Odisha.

Which of the statements given above are correct?

a) 1 and 2 only b) 3 and 4 only c) 1, 2 and 4 only d) 1, 3 and 4 only

@\ HH wWmeller (&S W LIPMIGLguSler M mIh SeulserfleT (g eiTemln @) (6 LIS LIS 6T Q&ML Iy LImeoT

LS etTaU(BLD FanM MIG6M6ETE & 61 60T UL M1 6iT:

1. Nevev LIPRIGLU 6T (PSS WILDTS G3T TS SH 6L & Meuor Ll LI [H S 66T M 60T 7.

2. GUITGLITeN LILPTEIGLQUIN6UTT (D& 60TemLOWITE SFTLSl6L 2 _6TeTeur(.

3. G&IT6UOT 6NV LILPEIG LU 60T T QLI(HLDLITEYILD S3ITIT &5 600T 196V 2_6ITEIT6OT .

4. (LPEOOTL TN LILPMEIG I Ull6oT] (N&HWIMTS @L9.Fmell6v & meuor L LIH &) 60Tm 60T 1.

GG QEMHG&LILILL gammiserflev g Fil?

a) 1 lnmmiLd 2 (LD b) 3 lnMHmILD 4 0L (HILD

01,2 Mmmib 4 0L (HID d) 1,3 lommib 4 ()LD

Explanation:

e Bhils are more predominantly found across a wider belt including Madhya Pradesh,
Rajasthan, Gujarat, and Maharashtra. Madhya Pradesh has the largest Bhil population.
The Bodos are the largest ethnolinguistic group in Assam and are primarily concentrated in
the Bodoland Territorial Region (BTR) within Assam, and also spread in some parts of North
Bengal.

The Gonds are one of the largest tribal groups in India, largely concentrated in Madhya
Pradesh, Chhattisgarh, Maharashtra, and Odisha, and also found in parts of Telangana,
Andhra Pradesh, Uttar Pradesh, and Bihar.

Mundas are found in Odisha, their primary concentration is in the Chhotanagpur Plateau
region, which covers most of Jharkhand, as well as neighboring regions of West Bengal
and Odisha

eflem& &1b:

e Llev LI uileriler, 2 coraninuiley LGS WL LNFCHEFLD, [FITRETVSTET, GRT TS L0MMILD LOSTTTEYLY[JIT
2 aTefll L @ UFhHs BlewlILTLLNeh 91FH &0 &reorliLG@mTIs6T. SR LITCHEFSET6 S5MeT 2F& Ll
D& & 6T 2_6TETEOTT).

GUMTCLM&&6T &Fmiilev 2 aTem IA&LIQLIW @ 6r-QLmPE & Wwalm@GLd, CLaID SalF&H6T FTley 2 6TerT
GuUTCLT YrGsaLl LigHullseuid (BTR) LDMHMILD 6L AIMBIGTETS S 60T Flev LIGH &6 avid (NG 6Ten D UITS
o 66Ty,
G meoor(h 6T @bE W mailledr W& IGUlw LpkiGlauileTifle meurmeld, SialiseT (N&HHWINMS g S WLl
KrGs&FD, &6V, LDSTFTALLTT IDMMID RET &H W IDTHleuHkI&6 6 GalbSieTererTy, GLosn
QENMIGTETT, WHH T NFCsFID, 2 55711 LIFCsFD Inmmild Lismiflear Hlev LiGH serfleln
Smeoor LILIB ST SET.
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e (LNEUITLMEGET 6219 &FMeil6L SmevorLILIL L TeVILD, 3| F&6rfl6dr (L& 6aTem OIS S2ITIT85600TL9.60T G LI(HLD LIE B emil
2 6TeML&H W CFMLLIT BTEHLT LT LGS WHoILD S|6e00TenL LDMBleVAIGETTer GLOMEG eUMISLID MHmILD
@I Fmallevld 2 6Temeor.

75. Which of the following languages does not belong to the Indo-Aryan language family?
a) Balti b) Bihari c) Bengali d) Bagheli
WKetreuplb Qumtisefley @Besm-auflw Qumd GG LUSMSE EMTTTS S 6TSI1?

a) LImeulq b) &l ¢) QLIS TE0 d) used
Explanation:

Balti is a Tibetic language spoken in the Baltistan region of Gilgit-Baltistan (Pakistan) and
Ladakh (India). It belongs to the Sino-Tibetan language family, not the Indo-Aryan family.
eflen& & Lh:

LIMT6VLY. 6TedT L& LIMGHen g meofledT Sleuedl&-LIMeulq.engmedT LnMmmild @)\b& Wwmelledr euL_m& LGS ullsvieter
LImeulgengmer LUG&ullev CUFLILBID @@ HOUSH W QLM 291G h. @S Fer-FAuUSH W QLomys
SO LUSMSE CFIHSSI, QHCHT- W GHLUSMSE CEFTHSSI 2/6Dev.
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